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Historical Note

In the World War II, when the war operations had to be planned to economise expenditure,
maximise damage to the enemy, linear programming problems came to the forefront.

The first problem in linear programming was formulated in C.E. 1941 by the Russian mathematician,
L. Kantorovich and the American economist, F. L. Hitchcock, both of whom worked at it
independently of each other. This was the well known transportation problem. In C.E. 1945,
an English economist, G Stigler, described yet another linear programming problem — that of
determining an optimal diet.

In C.E. 1947, the American economist, G B. Dantzig suggested an efficient method known
as the simplex method which is an iterative procedure to solve any linear programming problem
in a finite number of steps.

L. Katorovich and American mathematical economist, 7. C. Koopmans were awarded the
nobel prize in the year C.E. 1975 in economics for their pioneering work in linear programming.
With the advent of computers and the necessary softwares, it has become possible to apply

linear programming model to increasingly complex problems in many areas.
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ugl 2ld 530 0. 20Ul vAudd FMealasiall Al Asoudd ge-iziisl
Aeldlall 2L Aoldddl R HOdl ©. UL AUl AALOUAL ;
Ml e uel s91 0. 24l UsAHE, UL s Hetardl Ascurl, Tmirm o e o
goriril 2dl Acladl ed 5 U s vedl Beddl Y5l © iy wuud Pierre de Fermat
Gl A ARl 2 derdl Gedadid] dotadl R 22l sdg. A Hugey (81001 CE1665)
UHY, AolladlAdl dRusIRAL [HuH 2 deipii-l [FRugtdid Auoal Hee3u agl. sl dqielos
4t A del Aeiadl (el Hewdl Aseudl [@a dal deiadl [[dexdl s i Qe uel
oA 539 L us ilan [Goworl, vl (guel [Ader dils 2hoeidl 2o1dHl 2dd
Aotadl [Adal (gl e s2Ug. 2l A4 usWHL 2l YHL 2L Bedr 4 Sl Al YAl 2uusl
AUl U[RBUAHL HR1AdL HHIL % 4S9,

13.2 22dl A™a-u

Aol vtz L 2wl vedidl Aonanl Al Adidl 2al 530 8. o wwuel wa
25 o [ealasiadl o gedipil $id, dl 9 516 s el Geoia [@dHl Aldl ol we-ixl
Alarld A2 5290 7 Al sl U Ul Gr vuudl Mdel sTBL d W el uReuwl
Beoadl uuAeudl €l Hidl s A2lL9s uAldL ASH,
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AL Al Rssiolia G-l ML [@9 Rl 240 vdel Fealasiel

S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT} 8.

~ ~ ~ ~N A o N N . 1 ~ NN ~ .
Rissipll dudia lael »udl udls Fedbigd w2 dAeiadl g ostadl aslsl, @l 5 @lmu
gl 6 oy v’ d el B v ‘uddl Rssl siel edld’ d wedl F oo,
209l E = {HHH, HHT, HTH, THH}

-

w4 F = {THH, THT, TTH, TTT} 8.

w2 P(E) = P ({HHH}) + P ({HHT}) + P ({HTH)} + P ({THH})
=%+%+%+%:% (sw e ?)
2« P(F) = P ({THH}) + P ({THT}) + P ({TTH)} + P ({TTT})
1,1 .1 1 1
R )

asll, E N F = {THH}
P(E n F) =P ({{THH}) = %
gd, HIRL 5 ‘Uad [ssl siel eldld €97 M wtd 8, ed § dedl F Geddl 8 du »uud
89, dl uesl serl E Geotd sl deuadl seddl ? wedl F Gectaauddl uledl 20, 2iven vidil ©
5 % [asalld ulReud uad st siel 4 oldld dX ¢l d uReud gedl E Al Aeuadl diddl aud
[neuml dad <R, wedl E w2 v Hledl 2uuen Meaidsiad a@ S A del Guaet F oyl
wulled 53 9. e AoEIL, AUl HBdl MW UL i sdal MS U B 5, i ool
el W (Mealasiel we-dl F ol Geoiddl W2 Alsa 9, dal diid uReuHl duadl §ii »al
Aal uge9s uAaAL Qe s3I0 s,

gd, Fei & [edlig vel E w2 A0 © 4 THH 8. 20, @edl F A4 [ealasa

Y N N 1 NN ~ ~ b
als [QaRdl gedl E ol dendnl 7 A adl geql FoGestdl 8 ad »udd gl ik E ol

: 1
deladl 7 A

geril F 2ouGYl Gemdl 38l & du 2uldd sld cuR geqt B+l d*ua-id E il Rdl
AUl 58 & A dd P(E|F) 43 salay &.

1
w4, P(E|F) = 7.

NN

A 5 5 Fel % 85l B2l B oAl 2dsn 8, d E 2d F o<l Ml 825l 8 »ied 5
E NF i Healbigyil 9.
2H, dURA AU Sd 5 el F Geddl %8l 6, d wrd E <l 2dl Acua-id <A

uHeL weL quil uslat
E N F 32 Aldsn wefis gedipiisl qva

P(E | F) - —
F a2 Alsn welds ae-uti-dl Adva

n (EnF)
n(F)
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2l A e Meulasiaxdl wafs vedipi-dl ga Aval a3 ouoidi, »uel s ¢lal 3
P(E|F) < <2 usel ua avil asiu o -

n (EnF)
—S_  PENF
P(E|F) = % - ()
(S)

-~

Al 5 5 P(F) #0 »2d 5 F = ¢ (W w2 ?) €1, U o (1) Hwd 9,

UM, UL AL Aeladl (A uHel valRd 53 aslal

uual 1: 21 o a2l E 21 F, A1€[89s ualo-l 4 o [saiasie ad 6o €, dl
A4 Sld § gl F GeMdl 48l 8, d aeqit F -l 4:d ae-u E -l ardl deuqnl -l #sd

5 P(EnF) . A
P(E|F) &, P(E|F) = —pg—, P(F) # 0 g2t 2uuausi 2ud 8.

13.2.1 22l AL dLRINL
QL 3 E 24 F, 25wl Mealasia Sl aedizil 9, dl el wa «{laq o
sl B
ARA4H 1 : P(S|F)
uBL el ¢Sl

P(F|F) =1

o’

’

P(SAF)  P(F

PSIF) = —pH— = BE | (521 3 F c S)
P(Fm~F) P (F)
all, PFIF) = —p@— = pE -~ |

24, P(S|F) = P(F|F) = 1

AAYH 2 : 90 A 21 B [eaiasia S -l o acuil sld 21 F 24 (P(F) = 0) Guisa S +il
g2l S, dl

P((AUB)|F)=P(A|F)+ PB|F)-P(ANB)|F)

[QANd: %l A i B Y ol ezl ¢, dl

P((AUB)|F)=P(A|F) + PB|F)

. P [(A L B)~F]

el Wi, P(AUB)[F) = ——5m——

P[(AnF)uBAF]
P(F)

(-t At YelFar ur [Acuw- Rawu girl)

PAAnF)+P(BAF)-P(A~BnF)
- P(F)
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P(AnF) P(BnF) P[(A nB)~F]
PE) T PE) P(F)

P(A|F) + P(B|F) - P(ANB)|F)
UL A 2 B URWU AL HeAldl Sld, U
P(ANB)|F)=0
P((AUB)|F)=PA|F) + PB|F)
daud 3 : P(E'|F) =1 - P(E|F)
oy 1 uel, »iudl welat $la 3 P(S|F) = 1
P(EUE)|F)=1 s 5§ S=E UE'
P(E|F) + P(E'|F) =1 5128 % E v E' URU AL derllil €,
24, P(E'|F) = 1 - P(E|F)
AAl, wUBL ¢d sedis Gelswll sl

Gelsael 12 0 P(A) = &, P(B) = o il P(A N B) = = i, dl P(A|B) < yeu ol
4
. , PANB) 13
@361, . Q"[E{]., P(AlB) = % = ? = i QLY.

13
BELSRWL 2 : s 2014l 6L 6lLoLsL O, ML UL s olNs OIsA 9 dd U I, dl vin
oSl 915 Slaldl Actandl sedl ?
B3 @ WAL 5 Wi HIZ Add b A 95T WS Add g Al wwd B,
oL (Mealasia S = {(b, b), (g, b), (b, g), (2, 2)}
E 24 F Al ae-uil sald & :
E : ‘ol ounsl ©is 9.
F @ 204l 219 215 olos 9150 &7
dl E={(b.b)} 2L F = {(b. b). (g. b). (b, 2)}
¢d, E N F = {(b, b)}

s, P(F) = 2 o1 PE NF) = +

N P(E~F)
adl, P(E | F) = ~5E -

1

3

4>|w|4>|»—

-~

Belg2el 3 ¢ s vivuul 1 el 10 Avasiiaal 518 aval O, dxd Aysiugl Bie 53 €lal 9 e
ugdl s 518 we@Fes Ad ue sAUHL A B, A uAe s3AL 518 U 3 sl HA dval B
doRldl €SB, dl d You AvAl ¢l ddl Acuadr sedl ?

Bia @ R 5 uel A ‘wgfos d ude 3@ 518 U YU AvAL B, A A WRL § e

B ‘g5 dd ude s3d 518 U 3 sl HIZl Aval 9 d 8. 2uudl P(A | B) dlaaidl 9.
¢d, uArl Mealasia S = {1, 2,3, 4,5,6,7,8,9, 10} 9

wmd A= (2,4, 6,8 10}, B={4,5 6,7, 8,9, 10}
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dal A N B = {4, 6, 8, 10}

i, P(A) = . P(B) = 1= 1 P (A N B) = -
4

. PAAB) 10 4

cl%ﬂP(A|B)=W= 7 =7

10

Belsawl 4 ¢ s wouHi 1000 (Qenell>l ©. d WSl 430 ©isail ©. 24 430 ©isl>l WSl 10 %
el XIT 4l e 53 9. w95 Ad ude gda [@Qeul ois3] © du 2utd ¢y, dl udle
53 [Qenel qRRL XIT <l 9 a-dl Aeuadl sedl ?
Bia : R 3 el E »l wel@s d ude ada [Qenell €ike XIT Al e 52 8 d sald

~ S

8 "ol F ool wglEos dd ude gdd Qeuel ©isd] © 4 eald ©. »uudl P(E|F) adlbaid 9.

o

¢d, P(F) = ~oob = 0.43 1 P(E N F) = % = 0.043 (3w w3 ?)
N PENEF) 0.043
agl, P(E | F) = PE -~ o043 ~ 01

BEISBL 5 ¢ s WA 218 AR S5l wd O, Hedldl A A B el uHIl undullld 9
A wRiA ol quid Fsdi 4 |,
B : uwidld uddl auid F5dl 6 e ollw Quid Fsdl 5 AL
gerl B Geatdl %8l 8 dd e ¢ld R Herll A+l douadl oliMl
Bse : [Msalasiami 216 uReuHl 8.
(1L 1,4), (1,2,4), .. (1,6,4), (2, 1,4), (2.2, 4), .. 2.6, 4) 1
é,c\{, A= J, (3,1,4),(3,2,4),...,(3,6,4),(4,1,4),(4,2,4), ... (4,6, 4) t
). (5,1,4),(5,2,4),...,(5,6,4),(6,1,4),(6,2,4), ....(6,6,4) (
B ={(6,5,1),(6,5,2),(6,5,3),(6,5,4),(6,5,5),(6,5,6)}
4 AN B = {(6,5,4))

6 1

¢d, P(B) = 316 »*11 P(AN B) = 316

1
\ N P(AAB) 216 |
del, Widle AUsua-dl P(A[B) = —pEy— = 6 = ¢

8]

16
BEIBRWL 6 @ A5 WAL 6l dvid S5AHL A 9 A drll U HOdl AvARAAL AN 6 O dH
UA B, WAL YR USHL Sl s avid dval 4 HOL ddl Al Actadl L
Bid : WA 3 el B wl Yvul 4 2ol 2edl s auid MO d sald 9 A gesl
F o2l ‘Wail ux Holdl Avaiiiel a0l 6 97 d sald 9.
QL E = {4, 1), 4, 2), (4, 3), (4, 4), (4, 5), (4, 6), (1, 4), (2, 4), (3, 4), (5, 4), (6, 4)}

w4 F = {(1, 5), (2, 4), (3, 3), (4, 2), (5, 1)}
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wdl, P(E) = 3£ o1 P(F) = =

asll, ENF = {2, 4), (4, 2)}

PENF) = =

2

P(EnF) 36

el wisle dewast PE|F) = —pm— = 5 = %

36
Guisd 22l s Al Actadl H2 uud udHl walis qedivil wuicudl © w1 [y
g 2 gedisil 23y Aeiadil Guaiol sdl sdl. dy odi, aus Bruxl suR Mealasiadl walis
gerllaoll uHRieldl 4 €l R UL L % vl Gualal s3I asid 68, v dedl Aeudnipil
P(E NF) 24 P(F) <l ol 3 asid . adl, 2uuel «lad Gelsel asa :
Gelgael 7 ¢ (st Geotatdl uaoidl (@2 s o st u2 e

by ~ NN ~ . N N ~\ ~ R e (H9 H)

Hol dl dd syl G, g %l stel Mol dl Wil ssl. [[sst 691U (H)
U 20l 200l M auid slel HA B ad 2ild i, dl (H, T)
Uil U Hadl Aval 4 sl ay Sl d-l 2dl deuadl oMl (T, 1)
-~ . NN . ~ N T 2
G5 : wALil wReudid ouyHl Adl  gaisld ald 520 (T) %T: 3§
siavudl il saia. %’g
N c N ( ) )
2L AL [Realasiad (T, 6)

2usld 13.1
S = {(H, H), (H, D), (T, 1), (T, 2), (T, 3), (T, 4), (T, 5), (T, 6);

c ~N
gl sallala.
Russid 6L auid GOl ol avid 914 Ha dd (H, H) a3 saldlal dal was quid siél dal
Wl Gur Hodl v ioA (T, §) a3 saldlal wul i =1, 2, 3, 4, 5, 6.

2, 8 wals wedil (H, H), (H, T), (T, 1), (T, 2), (T, 3), st (H) i~ (H,H)
(T, 4), (T. 5). (T, 6)~il wAatarizl 2isd %, %, % 7 ~ H,T)
(T, 1)

111 1 1 5
120 127 127 120 12 (T, 2)
25l 13.2 uell >0 e . (T, 3)
Y N NN N\ * N \ N N N . N (T, 4)
DlIML AL S si2l S d el Fouid ‘Wil 4 sl 4iel (T, 5)

9

Avdl oldld’ d "edl E €, dl (T, 6)

Fo={H, T), (T, 1), (T, 2), (T, 3), (T, 4), (T, 5), (T, 6)}
E ={(T, 5., (L. 6)} »i EnF={T.5). (T, 6)}

sd, P(F) = P({H, T}) + P ({T. 1}) + P ({T. 2}) + P ({T. 3})

+P ({T, 4}) + P{T, 5}) + P ({T, 6})
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3 1 1 1
wi PENF)=PUTSH+PUT6) =57 + 13 = ¢
1
P(ENF) 5 2
wdl, PEID="pF =3 =%
4
rL 13.1

.(‘3)

1. #e»ll E 24 F "2 P(E) = 0.6, P(F) = 0.3 24 PENF) = 0.2 2ua
P(E|F) 2+ P(F | E) 20l

2. %l P(B) = 0.5 211 P(ANB) = 0.32 ¢4, dl P(A|B) 2l

3. %l P(A) = 0.8, P(B) = 0.5 211 P(B|A) = 0.4 &ly, dl
(i) P(A N B) (i) P(A | B) (iii) P(A U B) QL.

2 3 P(A|B) = = i, dl P(AUB) il Bud sl

4. % 2P(A) = P(B) = 3

5. % P(A) = =, P(B) = = ¥ PAUB) = = iy, dl
(i) P(A N B) (i) P(A|B) (iii) P(B| A) allHl.

wall 6 4l 9 4l P(E|F) Ml :
6. s [Assid 28l dvid Gl 2Ud 6.
() E :-llo aud Goadl 9 Mo, F o uad o dvid Golodl o 1,

() E : 2ol sl 6 o 1, F :agul ay ol e .

(i) E : a4l ay 6o siel Ha. F oo 200l 290 s siel |l
7. ol [Ass12Al 25 Auid Goloaml 2d o,

() E : 25 [Rssl ux siel wa. F : 25 (4550 U2 U 1A,

() E : s ul siel « . F @ 2% 48l ey« ua,

8. WAL S8l Auid SsAlHl wd 9.
E ol aud §sdl 4 4a 6.
F @ uad 6l avid Fsdl dsi 6 i 5 a8,
9. geoll slel W Hidl-[Udl A Yot weles dd s sul Glow e W,
E @y s 98 R 8. F @ [dl waaml o,
10. 215 5100 Vel A s dld DAl WA F5AUHL U 69,
(@) % S0 2L WAL YR AVUL S HOL B dH UUA Sl dl ol WL U+l visiHl
ARAGL 9 sl Ay ¢l dedl ardl Acuadr i,

(b) %A Ald IAL WAL U 4 5l Ul AvUL MO €9 dM wUE €Y, dl i widL YRl
sl AAL 8 HOL deil Al Actadl LML
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11, 25 Addld WA S5l 2ud O, "edlxll E = {1, 3, 5}, F = {2, 3} 24
G = {2, 3, 4, 5} -l (a2 s3L
(i) P(E|F) 21+ P(F|E) Ml (i) P(E|G) 211 P(G | E) 2lHL.

(iii) P(E U F) | G) 21+ P((E N F) | G) 2lAL.

12 4R 5 UAS %Hd olns 915 AL 95T Gl d uHbeudl 9. ws gel ol
o5l €.

() el A ouans wisL B, (i) 2ol gl s s B, A 2UA Sld, dl ol
OLsToil Gld dedl axdl qeuadl sedl wiy ?

13. 25 Hleds WA wa6s 9. dul AU UsRAL 300 A0 dal 200 s wsl 9.
dguad, oglasall usi-l 500 A0 dal 400 5B usl B, 2 UneisHidl A5 U
qef29s Ad ue AL 2Ud . A 2L Ul eglasedl UsiAl © dd bd €Y, dl d
AW UL €l d-il Actadl 9kl

14, oL wl ssael vadl dvaizil [Ga 9 dd U €ld, dl ‘ol WAl YRl qvaidiedl

AAAL 4 ¢l o verl-dl Actadl Lkl

WA Fsall WAL (3202 52, WAl uR Hadl yals 3 Hl fld €4, dl d waun 5308l

F50 A oA WAL UR AU SIS yals wol dl s Rssid Geowoll, Wil uR sl 2

s Quid Yals 3 1A dH wha €, dl Risst u sidl 40 d ge-iddl adl Acuas il

well 16 dal 17 | [ 0 o d 2d sula [Qsadiaial dou [@san wie s e

k.
W

16. % P(A) = 3 . P(B) = 0 €4, dl P(A|B) = ..o

(A) 0 ®) 3 (C) Mevaifid D) 1
17. % desll@il A i1 B H12 P(A|B) = P(B|A) €y, dl

(AJAcBuig A#B (B) A=B

OANB=0 (D) P(A) = P(B)

13.3 Aeuarl W2l dRusiR-Al uHY
Q3L 3 E 24 F [Healasier S w8 dsoudd ol el 9. e 8 5, 9L ENF 2L ol ge-iail
E 4 F Geotdl 9 d eald 6. 2=y A6814l, ENF 21 d2-ipil E 21 F 215018 Gegmd 9 d eald

N
-~

9. gedl ENF A4 EF 3% gl auaidl ud 9.
Azl ueld gedl EF «l Actiadl wdaidl %32 ud €9, Gelgwl dls, s usdl s 6l ydi
UAE Sl MARML 2R Hedl ‘Bs A% A 215 AL AciddAl WHAML ™A 1S AL,
gedl EF l dciadl adl adctadidl Guypl s3d <l wael qadl asiy
Ul ARl Yl 5, ol wild €l 5 dedl F Beatdl A8l ©, dl gedl B+l 2dl Acua-iq

P(E|F) a3 salcid © 24

P(ENF)
P(F)

gl ML 2Ud 9. 2L ufReuH el wuel dvil asla 3
P(ENF) = P(F) - P(E|F) . (D)

P(E|F) = : P(F) # 0
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aoll, 208l oLl ¢l 5

P(F~E)
P(F|E) = ~PE) P(E) # 0
P(EnF)
244l P(F|E) = —p5E— (ENnF=FNE)
214, P(E N F) = P(E) P(F | E) (2

(1) 244 (2) u2dl, 2uuLd 4o 9
PENF) =[ P(E)P(F|E) P(E) =0

4
k)

| P(F) P(E|F), P(F) = 0.
Gua wReus Aeuquu ygusiku [Quy qds wlaqvua .
Al, ¢d U8 Gelewl ddu
BELE20L 8 ¢ s WML 10 SO0 UL 2L 5 AFE WAL 84l 9. s Ul s H 6L £l UlAHi]
yragll aoiz Agfxes Ad steani »ud o, w25 Ad we ddd old el sl 2L lal
Aouadl sedl ?
B34 : WA 5 4edldl E 2 F 2qsi ubiniel uie 53 uam sl sl 01l 8 4 Bl
gdl sl 3l © du sald 9. »udl P(ENF) »adal P(EF) adldcusdl €.

10
15
aoll, uiAHiel ude s uUH edl SO UL B dX AUA €1, ed $ Hedll E Gemdl sl

Sl dl UPHL 9 S101L 390l A 5 AFE 20Ul edl olsl R\l 2], MuH uAe °4qd sl sloU 20l
8 dd 2ild G, AR ol we Udd el sl DAL Sl A Hedl E Beota uil dld, R wesll
F <l 2dl deuadl Raw ofly 59 -l

9
14
Aotasidl sl Fud uzel, 2iuel wa,

_ _ 10 9 _3
P(ENF) = PE) - P(F|E) = 15 * 17 = 3
6l 5l AHIR B2IpAl W2 Aeua--l deusiRl (RuH @ ol E, F 21 G [Reaiasiadl ae-ui
S, dl 2uuel wA A Ran o
P(ENF N G)=P®E)PF|E) - P(G|(E nF)) =PE) P(F |E) P(G | EF)

L% WHEL, ACUdAAL dRIsRAL [Haud AR 5 dall ay wediil e [gd s3I0 asa.

¢d, P(E) = P (wanigl ude $2d uaH il sl ©.) =

N A

wed 5 P(F|E) =

AL GelWL AR HeAHL W2 Aeuddll dAsRAL Fuded [rgdlsa sald o,
Gewgamr 9 ¢ Rl Ad Alhal 52 udidl disduial yrasil qoiz wgf2ss Ad =8 udi 215 ugl 218

ue AL A B, ude sl udi Usl MaM ol udi el e olly ud st €laudl

Aoadl sedl ?

Bsa @ WA 3 uedl K, cwisuidl wzlos Ad ue sl wdd waM ud un O 4
gerll K, oAsuizl wglos A udie 53¢ ol ud ws O d eald © 2w A csguial wzlos Ad
yde Sl dide ug sl 8 A Hel suld 8. e 9 5 wud PKK,A) Al 9.

4

¢d, P(K,)) = -



460 B

aoll, wiel9s Ad wan wAe sed U AR Sl 2 wd P(K, | K,) 21wzl Ad ude s
[eclla ug A% €l d-dl Aeua-t ©.
©d, (52 — 1) = 51 x4l 2181 A €,

24 58, P (K, |K) = %

9ed, UG uAe 524 6l udl A &Y, dl P (A KK, 2 eusl-l 50 utidl $d 4 iss1
Wsld ude s oly ud sl Sl d-l Aoua-l 8.
i
50
Aotasidl dRusiAl [y wuEl, 2uusl wa,
PKKy)A) = P(K) - P(K, | K)) - P(A| KKy
_ 4 3.4 _ 2
~ 52 C5175 5525
13.4 [Rua g2
WAl 52 udidl dlsdluial s ud wgf@es Ad uAe sail wdoL (@9 (ARl d wdem
wals aeeall uxRiendl 8 du Wl i 2ue O, dedlpll E o2 F, atsi ‘Ue 53¢ ug
sioll 87 2 ude 3¢ ug WS @7 d euld B,
PE)= & = 7 »APF) = 55 = 15
dguld ‘E 2l F7 2 "edl ‘ude sed ud stolldl »isst )
1

adl, P(ENF) = ]

2 5181, PA | KK,) =

w1¢l, P(E|F) = PE I =7
13
14, P(E) = %z P(E|F) €lual, 2uudl sél asls 5, "edl F o« Geslad wedl E -l
Beotadldl ol U s -l
1
1 suuel wdl, PRI E) = ceB 2 1L
ol el WA, P(F|E) = —py— = I (F)
y-: P(F) = % = P(F|E) sald 8 3, uedl E + Gestaq el F -l Georaaisil Aonanl w2

w5l gl

24, E 2l F 2l gzl 8 5 -l 48l 815 s el Gestadi-l Aouadl oiley ge-is
Geotadld AR sl el (ollw aedid GeMad udal Gemddl Hedl W2 usAl -ell.)

el gedlnlAd [(MUe gedlvll s¢ 9.

Quual 2 : 91 o g2l E A4 F e

P(E) # 0 21 P(F | E) = P(F)

24+ P(F) # 0 2 P(E | F) = P(E)

4, dl E A1 F [248 aeqiil sdaid ¢9.

2H, 21 cavHl 20yl wd PE) 2 0 211 P(F) = 0 &ld 7320 ©.
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gd, AGUAAAL JRUSRAL [RuH glRl, 2iuel W,

P(ENF) = P(E) - P(F|E) o (1)
ol E 24 F [Rua gedall €1t dl (1) uel
P(ENF) = P(E) - P(F) . (2)

M, (2) Al Guadl 530 oL deralidl [Huedl <l sl uel epuvaRd 530 wasy
QuAL 3 : Q1R 3 E A1 F 2s o wele9s ualor ald dsmdd o gl 9. o
P(E N F) = P(E) - P(F)
S, dl E 21 F A [Rua ae-uall sé 6.
Ay

() 27 E 24 F [A248 -1 Sl4, dl 2124 3 91 P(ENF) # P(E) - P(F) dl & g2l E
AHd F A 2dqdei] geul 38 6.

(i) s2clls R [MRUa verlpil e uRUR [HAIRS Herlpll a2 oA™Y A 9. ‘[Hua’
26e Helldl ActladlAl Al AnURA D, AsAHS URUR MAIRE dedldl (ed 3
Mealdasiadl Guoal) Aeclil crdilid 6. dguid URU MRS =eUMl S48 A
wReus dldl Aefl, uid (FRusl seqlaldl A wReud ¢S as. e 8 5 e’ i ‘U

[Menzs’Al 28 A Al i 2681HE, AAdR Aetadiziiansl 6 [Huer dedizdl, Yux [Malrs

o~
NN

4 Sl A5 A Ml Qg Ul AA O, ed 5 YAdR AMAAIDL YR1ddl 6 YU [Rars dedIvil
Mua A &S us.
i) ol @eizidl UAS N E 2 F M2, %02 E 21 Mud WPl Al d508d ¢l e
F 2 (gl malor 418 qsondd ¢l 2 13 ol MU0 Al 5L 2419 A1 deelxil E i
F 2518 Bedtd dsdl douadl, P (B) 24 P (F) -l dRusR €1, 224 5 P (E N F) = P(E) - P(F)
2§l P(E) 2 P (F), olf AL SHL vad-2atdl o iddl 530 dadld, di-l dpusiz s34
P(ENF) = P(E)-P(F) 35 Ol U2 21 A%RUML 6id UAR0A [HU8l sdalml 2ud 6,
@) % P (AN B)=P(A)P®B)
P (A N C)=P(A) P(C)
P (B " C) = P(B) P(C)
21 P (AN BN C) = P(A) P(B) P(C) &, dl A9 &2-ull A, B 21 C 4»y: [H=44
sy 8.
Guisd  UA A2 Hel W2 uid USL 2eomi sl s A uLL AHMA AL Ad €A,
dl 20uBl selal ol 5 dedipil uu [Hus Al
BELERBL 10 @ 25 WA F5UML 2d 8. A 8l E 21 Wil ur Haidl vl 3 <l oyffid €97 aie
gerll F ool ‘Wil w2 adl dval 3ou 9, dl E 24 F M08 ge-iall 8 5 g d «ssl s
Bia : 2uudl onellal a3, Mealasiae S = {1, 2, 3, 4, 5, 6} . ¢d, E = {3, 6},

F={246 3 ENF=1{6. ¥WlPE)=-2-1,PH =2 =3P ENF=-+
we ¥ 5 P (ENF)=PE) -P®F)
ddl, E 24 F [Rus ge-iall .
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Belgawl 11 : s Axdld WAL 6L auid S5l U 9. 82l A, ‘UdM YAl 20H dvdl HoU
2§ g2l B, ‘oflgt WA YoM dval MU dd €, dl
gerlloll A 2 B [MRuUg 8 5 53 d Asill

~ -

Bsa @ o wAodl dHH 36 wals gequsll wHAeudl 8§ g Wil adul, dl

D

PA) =1 =2 2 PB) = 3 =
Ql,P(ANB) = P (6l auid 35dl 21404 vl HdL.)
-9 _1
36 4
¢d, P(A) - PB) = +x + = L
22 T 3%

e 9 5 P(ANnB) = P(A) - P(B)
M, A 2 B [Mual gedipil 9.

Beld2ul 12 ¢ o3l [AssIolAd 25Ul GOAHL 2d 6. YR 5 gedl E 9lel 914 gdl el
siel’, el F @0l sl 60 691U’ el vedl G ‘adyi ay of oiu) Mo dH eald 9. %
(E, F), (E, G) 21 (F, G) usl $5 seiviidl s [FRua sedalidl s 9 7 5 aeiii-l
A wadoll © 7
Bia @ udl, uAIAl Fealasia 13wl wa 8 -

S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT}
e ¢ 5 E={(HHH, TTT},
F = {HHH, HHT, HTH, THH}
v G = {HHT, HTH, THH, HTT, THT, TTH, TTT},
asl, ENF = {HHH}, ENG = {TTT}, F NG = {HHT, HTH, THH}

®,PE) = = =+, PF) = 5 = 3, PG) = £

#1 PENF) = ¢, FENG) = 5, PFNG) = =

wl,PE)-P(F) =+ « L -1 pE) P -1+ xI-L
h 1 7 7
w4 P(F)-P(G) = 5 % ¢ = 7¢

24, P(E N F) = P(E)- P (F), P(E nG) # PE)- P (G)
w4, P(F nG) = P(F)-P(G)
adl, ezl E 24 F <l g [Mua gedizidl o8 © 24 gedizll F aid G Al %8 dal
E 2r G il %l vtacoll .
Beld2l 13 : o E 24 F [Mual ge-izil i, dl Albid 531 5 dedizil E 24 F' ual [Hua o,
Bia : "ol E wiA F (Mua dlanedl »uusll wi,
P(E N F) = P(E) - P (F) (D
slglet 13.3 <l dA ugld well e 8 5, ENF 24 E N F U2 [HaRs gzl 8§ 24
aul, E=(E nF) U (E NF)
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P(E) = P(E nF) + P(E N F)
94l P(E N F') =P(E) - P(E N F)
= P(E) — P(E) P(F)  ((1) u=el)
= P(E) (1 - P(F))
= P(E) - P(F)
agl, E 24 F' [Mia 9. 2usld 133

o EQF) S

ENF) EANF ENF

oAl | o uHEl, %l gerlll E oA F MRta e, dl lbid 530 asid
(@) E'24 F Mua 9.  (b) E' 21 F' [Mua 9.

BElSRWL 14 : %l A 2 B 6l [Mual gelall ¢ld, dl Albid 530 5 A 24 B wigl 201l 21l
25 "edl Geatadldl Acua-dl 1 — P(A') P(B') 9.
Bsa @ wpuel Wi,
P (A 2+ BHigl 20l 219l 21%)

P(A U B)

= P(A) + P (B) - P(A N B)
= P(A) + P (B) — P(A) P(B)
= P(A) +PB) (A -PA))
= P(A) + P (B) P(A)

1 — P(A") + P (B) P(A))

1 —P(A) [1 - P(B)]

= 1-P(A") P(B)
ol Zd : P(AUB) = 1 — P((A UB))
=1-PA'NB)
=1 - P(A") P(B") (sl@L 3 A", B' [Fua ©.)
ALY 13.2
3

1. %l A v B [MUa de-lall ¢l 2+ P(A) = = 24 P(B) = % ¢ld, dl P(A N B) 2l

5

2. il 52 udidl edlsduial 6 udi w2y Ad yrasl 9o wie sABL U 8. ol
udl 5100 39Ul €1t dedl Actadl L

3. Rl vivuaiell g9y Ad yrasl @or oe Aol wrie s d vivid duidam
1A 9. o dM 2L AU AT €, dl vl AR HIZ dlSR SAU 9, weUYL
Al 2rellslz saMl 20d 9. o vivuMl AHAe 15 ARl sl 12 AWl A 3 v
S, dlodd dael qie gl Ho d-dl Asuadl 2l

4. 5 AMAld [As50 2 25 AL R GOLUHL a9, IR 5 Hedl A, ‘RUssl R
OIW HO d 2 gedl B Wil U 3 HOU d sld €. qerlall A wid B Frua 9 3«
d AsL.

5. %+l Gur yaiisl 1, 2, 3 ald el A 4, 5, 6 dlal 1l david S ddl WAl Fsami
A O, WAL U HAAL YRTs 4oH 9 d Hedldl A Al dal Wil U+l yeils dia 3ol
avd 8 d geld B ad saldlyl, dl ge-izil A 24 B Mrua 8 ?
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10.

11.

12.

14.

15.

16.

B

el E 24 F W12 P(E) = =, P(F) = == 24 P(E NnF) = . E 24 F

T[]

1
5
Mua o 7

2w Hedll A 24 B 12 P(A) = % P(AUB) = % 24 P(B) = p U4 9. %l ge-ivil

(i) uRux [RauRs (i) MRUe ¢l dl p AL
[Mua gedi»ll A 24 B w2 P(A) = 0.3 i+ P(B) = 0.4.

(i) P(A N B) (i) P(A U B) (iii) P(A | B) (iv) P(B | A) 24l
Wodzpl A wd B W2 P(A) = +, P(B) = 3 1 P(ANB) = 3 di, dl
P(A--[& 24 B-«[g) L.

Azl A 2 B w2 P(A) = 3, P(B) = & i

P (A -él 2naal B-Agl) = %. A »d B Mua 9 5 qle ?

wUA ol [MUe vedlzll A 24 B "2 P(A) = 0.3 24 P(B) = 0.6 €, dl
(i) P (A 24 B) (i) P (A2 B -l3.)
(iii) P (A »t9a1 B) (iv) P (A & 24 B l3.) it

s WAL AR dvid SsAUHL A B, oHl Sl B avid Y AvAL 1A Al
SICIERTREIEIN

.25 BIBIHL 10 100 00l 2 8 Al Rl 841 89, d vivuHiYl oL edl qig(s dd yranil

ARA WAL sAML 20 69,

(i) oidl edl dld 32l Sld d«il AL LAl

(i) uddl edl s1L 22l st oflol 88l el 91l Sl d-dl oAl AdlHl.
(iii) duidl 215 84l 51001 Ul e 2 Al 9L Sl del ActadAdl AL

A 2 B o5 Alssy Adldd ddat Ad B5d d-dl deunadl sy % s % 9. %
A 2 B ol 2adal 3d qdldd Giddidl MdAct 59, dl
(i) dcna-l Gsa A, (i) eHigl 2isd o Al G5d 1Ol d-dl AeiaHL ML

(0297

A Ad 2Albal 52 udidl edisdHigl s ud welEs Ad uAe sl 2ud
dladiniel s Brusidl geqsll E w4 Fo[Rrug © 7

() E : ‘ude sed ug sl o F @ ‘Ude sed ut sl 8.
(i) E : ‘ude 5@ ut slow 1 7. F: ‘Uaie 5@ ug AN &,
(i) E : ‘Ude 5@ ud A% 2adl el 8. F: ‘urie skd ug usll vl a9,

w5 YAl 60 % [Renelpil [Re€l AU i O, 40 % AP AHARYA Al O
2w 20 % (&€l A 203w oA wMARYA Al ©. a5 [Qenel welos Ad ude s
L.
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(@ d [&€l 5 2% Usl 25 ULl AHARYS diAdl 4 €l dedl AcuasL il

(b) % d [Re€l AHARYL dlAdl 14, dl d 2109 AHIARYA did 9 d-dl Actadl L.
(€) %l d AW AHARMA AAAL €14, dl d (Bl AHARUA Al 9 dedil AciaAL 2kl

well 17 da 18 i [Qa e ot d 2Ad 2udd [Qsediaigl Qo [Qsey wis s

17. wandidl st Fsal »Ud, dl Ucls Wl uR yod 2Alacuey vl oL d-l Acuadl

.......... Q.
(A) 0 (B) 3 ©) 5 (D) 3¢
18. «{laAL usgl ... [Asew w2 deinll A 24 B [Musl 49l :
(A) A 21 B uuz [Rars . (C) P(A) = P(B)
(B) P(A'B") = [1 — P(A)] [1 - P(B)] (D) P(A) + P(B) =1

13.5 6ol uHY

QA 5 6L gl T 2d IT 2uudL ©. 9dl T |l 2 use 39l 24 3 dld 390l 84l 89 dal
dal I1 Ml 4 Ade Wil 2 5 dld 9L 88l ©. 6L Usl s dennizl welos Ad 25 edl ude
2L Ul olHigl S8 uRL dald ude scledl Aeuadl (led 3 %) wUdl 215 AlssU daiigl
(561 94l 1) s AlssU DAL 84l (56l dde) ude saul Aouadl el aslat. =1 Ad sdl,

-~

ol UL UA S 5 suL dalmidl el Slell 9, dl udAe SAUML 2UAE Bl sUL ALSSA 2L
8 drl Aouadl 2uuel olidl Asla. uid, W uAe sAML UAd el L BUUAHL 2Udd S, dl
9 Ul edl s AlssA damizl (561 AdlIT) ude AL il 9 Al Aouanl il asla ?
2L, d el Gerdl d ugdl »uusl dal 11 uie Al (Blaer su-l) ulaienat aitasdl o, ylavaid
afRicauzll, i 6y Adl Astaridl Gualal s ulaAeuadl ditaldl sl B3l du-l gl
[QLsiaatdl 2idd Aol Gyl UL dils alavud 9. d di-l Mol C.A. 1763 3 usilid
2, Gl UHA (A sl v AUGId Sl uedl, ALl BUURL s AUl A Sedis Yaed
uReuHL dd,
13.5.1 [Reatasad [Qeus

% (a) E,NE =@ i#ji,j=1223..n

() E,UE,U.. . UE, =82

(© uds i=1,2, 3., n 42 PE) > 0, dl 4esu»ll E,, E,...E, Feulasia S

[Qeu 52 8 2wn sdal.
A4 :n oo E,, E,, By, E, 2,
E,UE,UE;uU..UE, = {x: oM 2oL 25 x e, x € E;i=1,2,3,.., n}

ol wogini, Asd WM [Mars yeidz el [y sedisil E; By, .., B
Mealasiad [@euw suld 8.

Belgul dils, 2wuel Adul Yt 5 515 Ul ARsddwel E A ddl ysael B, E N E' = ¢
AWl E UE =S o auid sdl €l d [eatasia S - Reuyd [Rd 52 9.

sl 13.3 Al dn suglanit wdl, 2un wdarddl Mlas 530 asi ol 5 A E 214 F Fealasia
S A AsouAd SIS uRl 6 geell i, dl 2Rl {ENF, ENFE, E'NF, ENnF} a1 FMealasia
S i (Ao 9. A ¥ usl Geduidly B 5, Meulasiad [@euas s w2l 25 o [Realasiau-i
sedin (Aol €S as.

n
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8 U, AYsl Acuadld uRA adly Aavidl uRua ubid s,
13.5.2 duQl A AU
{(E;, EpeE ) 2 [eaiasia S f [Aeura &. @Rl 5 geuil E,, E,,..,E, U] 4cds acu
GeMmaaidl deuan yddR . S+l 51§ ug @zl A dl. dl
P(A) = P(E,) P(A|E) + P(E,) P(A|E,) + .. + P(E,) P(A | E,)

= ZIP(Ej)P(AIEj)
J:

Alltidl © E,, By, B, FRealasia S o [euyt & 2 2ula 8 (duglt 13.4). aql
S=E,UEuU..UE, .. (1)

UL E,NE= @i#j i j=12 .. n

ed, Ul el Sl 5 oSS Ul vedl A MR,

A =ANS
=An(E VE, U...UE)
= (ANE)U(ANE)U..U(ANE) wgld 13.4

afl, AN E; 21 AN E; 2 2sH E; 2l E; L Guowll 8. »uudl wellal ¢l 5. E;
24 E; W2 ddl 1L 9. 2, ANE; x4 AN B, wal ai i #/, 0, j = 1, 2,..n HIE YRR
WAL 2ABL 69,

4, P(A) = PANE) U(A NE)U ..U (ANE)

= PANE)+P(ANE)+..+P(ANE)
gd, AGUAAL dRUsIRAL [Rud 202, >uuRl wAd

-~

P(ANE) =P (E) P(A|E), 5223 P [E)%0, Vi=1,2,.n
ddl, P(A)=P (E) P(A|E,) + P(E,) P(A|E,) + .. + P (E,) P(A|E,)

wudl - P(A) = X P(E;)PAIE))
j=1

Belsel 15 @ »is alsax oitsiudAl Ml si1-l oiaal »udl 9. s elBand gidid ugal dsdl
Aoal 0.65 B, A eilld AR Ul dl AHUA oliusH yel ddidl Aeadl 0.80 A ol
Bild U3 dl AMAA ol yel Adidl Acuadl 0.32 9. oliasiHd s AHUA Y8l A il
Aeadl .

B @ WA 5 el A ootitsiid s AU Yol 4§ ol d 2 el B ool ugil du

gald 9. udl P(A) dldald 9.
el Wi P(B) = 0.65, P (st <él) = P(B) =1 — P(B) = 1 — 0.65 = 0.35
gedl»il B A B' [Mealasia S o [Qeuwd @ 0, ddl Ayel deud-dil udd uRdl,

vl WA
P(A)

P(B) P(A | B) + P(B") P(A | B")
= 0.65 x 0.32 + 0.35 x 0.80
0.208 + 0.280 = 0.488
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WM, olitsieg s uHuA YRl A4S il d-dl Acud-l 0.488 6.

gd, GUBL ol UL @vilyl 2 A sl

oI WA : E, By, B, [Rediasia S u [Qeurqd [4ixs s2d]l 21Rsd azuil .
ed 5 K, Eypery B, YRR Q0 g2l € H1E, UE,U .. UE =S all A ¥ g~dd?
AMial 4uddl ae- €9, di
P(E;)PAIE;)

¥, P(E;)P(AIE;)
j=1

s i=1,2, 3, .. n HE P(E;|A) =

A1l ¢ a2l AcianiAl Yot uel, 2usl cmelal dla 5,

P(ANE;)
P(E; | A) = P(A)
P(E;)P(AIE;) . -
=~ Pa (Rlettariirl dRusiRl [HAd-L 2UHIR)
P(E;)P(AIE;)

= = (Rivel 2Acia--l uAd yrel)
ZIP(EJ)P(AIEj)
J=

AY o Gyl uAAAl Guddl sA2 Bl A A Ad A wRewwil Gudlal
A% 6§

gerllzll B, By, B, 7L Ud 82l dadl U8l sdd 8.

detladl P(E) + ydaedl E; «l yd-icuadl s 8.

9l Aeuadl P(E, | A) A ydauest E, -l Gua-ieua-l séai 8.

Gl UHAA ‘SRRIUL Aouardizlig Yot w58 8. A E; Meulasia S o [Aeuse sl
dlanell, 25 v ML vis % dedl B, GeMd (ded b el E; Usl vls uedl Geotadl % Su
A sA0 s o Beddl w%). ddl, Guad Aot AR vedl A Geadl ASL B dd 2UA €l AR
s Alssy E; (ved 5 ‘sie0)Hl deuadl suuad sud o

fan uRRAfA>IML ool uAadl Guallal . ddidl Sedis «{ladl Gelsell uewid
galledl 9.

Beldwl 16 @ fal T Ml 3 cld 20Ul il 4 Sl00 30Ul £dl @A Al 1T 3L 5 ald 29l e
6 st L edl . 515 s daial s edl Wl Ad we AL A B A d Ad
VUL dlald HgH ud 9, dl d ddl 11 Hiell ude 23d i d-dl Aeuddl 2l
B4 : Adl T wdie il se-id E,, 4dl 11 uie zai-dl gedidl E, 2 dld 391l 83l ulise

WA A e A a4, dl PE) = P (E) = 3

3|

aull, P(A|E) = P (dal I nigll dia 0l edl ude ad.) =

w4 P(A|E,) = P (dal 11 gl @l 01l g4l ude ad.) = %
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6d, el dld AL 9 dd A ¢l AU, d el dal IT Higl wie s S, d-dl deuasl
P(E, | A) 4.

Yl UHAAL GUAdL Sdl, uuel wi

1.5
P(E, | A) = P(E,)PAIE,) _ 2 _ 35
2 P(E,PAIE)+PE,PAIE,) 1,3, 1.5 68

2 7 2 11

BeldR0lL 17 : A8 2A5q] Ul I 1T 24 TIT 208a €9, UAsHL 6l Risst 9. U2l T i oid [ss1
AL €9, 42l IT ML ol [sst AL 9 24 U2l ITHL 215 ALl 2 215 AlElAL [sst
9. 25 alsd W95 Jd 2is Ul UAe 52 9 2 duidl w15 sl 68IR 516 9. A d [Rissl
AlAAL Sl dl USlMl e oflat [Rsst wal Al Sl d-l Aeuadl sedl ?
Gse @ Wil I, 1T 247 TIT waie sid ded »iegsil g2l B, E, 214 E; a3 saldla,

dl P(E)) = P(E,) = P(E;) = 3

"

aoll, ‘Yde SAML A [Ussl AL €97 d dedid A ddl, dl

P(A|E) = P (e I wigl adi-uedl Risdl) = 2 = 1

N

2
P(A|E,) = P (da II gl Al-i-l [@ssl) =0

P(A|E;) = P (det TIT sl il Russt) = %

ed, U2lHl wed ol Rsst Aldldl €l d-dl deua-l
= U2l THiEl slecml 2ida [Rsst Al ¢l d-fl Aeuarl
=P(E, | A)

oyl UHA uRel, 2u8l et Sl 5

=

P(E|)P(AIE))
P(E, ) P(AIE;)+P(E,) P(AIE,) +P(E5) P(AE;)

P(E, | A) =

Belgml 18 ¢ R 3 s HIV 0l Ruadladidl [Qordl {13 saldl © @ HIV A disiuiyl,
udlatetdl 90 estui il AR A 9 uig 10 % Hi Wl adl el HIV 3sd disiaiel,
99 % uilaelql (Mely HIV —ve €4 8, uig 1% <« [Meit HIV +ve ocud 6. asll
Wl audlqigl wst 0.1 % disidi HIV 9. s fsd wig29s d ude sl 2ud 9, d
HIV udlg@ >0 6 24 oudstsdld Meld dd HIV +ve 40 8. d @lsd wur HIV Ad
Sl d "edl-dl Aepal sedl ?
G5 @ W 5 "edl E suld 8 3 wiie udd ulsd wivk HIV Ad 8 24 gedl A sald
8 5 alsadl HIV udlaed Reit +ve 02 8. suueid P(E|A) allddldl suagasdl o,
aoll, gedl E' sald 9 % ude udd Alsd waur HIV ded -l
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vl {E, E'} 3 qudl-l dii disiql [Realasiasd [@ous- 9,

e N4 9, P(E) = 0.1% = % = 0.001
P(E) = 1 — P(E) = 0.999
P(A|E) =P(>uud © 5 d wv2 HIV W 6, dl lsdd ulaer HIV+ve dils 2y 6.)
— o0 o, = 20 _
90 % 100 0.9
§d P(A|E') = P(>Uud 6 5 d wu HIV A -dl, dl lsad udlaw HIV+ve dls 2y €.)
- - 1 _
=1% = 00 0.01

gd, ol UHY uRel,

P(E)-P(A | E)
P(E) P(A IE) + P(E)) P(AIE)

P(E|A) =

B 0.001x 0.9 90
T 0.001x0.9+0.999x0.01 1089 0.083 @dicoL

H, A Sl 5 @lsdd ulawl HIV+4ve 9, dl aeles dAd ude s2d @lsd HIVIRA 6,

a-{l Acua-dl 0.083 €.

Belsel 19 @ »is 353l ol Bauled 53 8. Aol A, B 2 C 2A4sH 25 %, 35 % A
40 % olleedi Geulert 53 0. dxdl Gauwled sal olleed Usl »e4sM, 5 %, 4 % w4 2 %
vilysd Sld 9. s ollee wEFs Ad ude sul A d vHlysd Mg URl d dsl B glRl
Baulled 2ddl glasdl Acta-l sedl ?

B4 : "ue-dil B, B,, By ~{ld gl @l :

-~

B, : clleed Bculed 4o A gll a4y O,

D
-~

B, : ol Gauler dst B gl 4y ©.
B, @ ollee Gauler dst C gl 4y ©.

we 9 3 B, B, By uuk [MarRs A Fudd gzl 8 24 dedl dail Fealasad

[Aou- eald 8. uedl E ‘oliee vlysd 8 d dl,

gerl E, B, +ll A aar B, «l e suar By <l e Geowd o,

2lhd ¥ P(B,) = 25 % = 0.25, P(B,) = 0.35 2+ P(B,) = 0.40

s3lell vi{lysd ollez sleatdl Sl ©. U © 5 d Aot A a3 GaulRd adl €, dl d g2kl
Aetlaqt P(E|B,)) =5 % = 0.05

2l % uHd P(E|B,) = 0.04, P(E|B;) = 0.02

dell, clupl uHA glRl,

P(B,).P(E|B,)
P(B,) P(EIB,) + P(B,) P(EIB,) + P(B;) P(EB;)

0.35x0.04
0.25x0.05 + 0.35 x 0.04 + 0.40 x 0.02

P(B, | E)=

_ 00140 _ 28
0.0345 ~ 69
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Belsaal 20 @ s dofla eelHdl Hausid daldl 8. oldsinHl et uel uudl A alat gl

3 1 1 A
10> 35" 10 2t
|

5
% 9. % d ASH 2, GU A %2 glRl AU dl drll HIL WLl AUl vAsH
L
3

-~

Aril g, oA, 2R Adl 2 1S uRadH glal suadlHdl Aeuadl sd

3 ) =N ) 4 °
At 15 B, uig A A v A5 uRde g 2d, dl A g weldl Al ol d

Ul 9 A3 d ML UL 9. d 2 gl wiedl 9l dedl denadl sedl ?

4]

N ~

Bsa : udl dsex eeldl qausid Al Mg U3 B d deid E a3 duy dseR e, ol
3522 Al AU URAGA gl d B d e 2sH T, Ty, Ty, T, a3 saldlat,
- . 1 1 b\ 2 N S
2104, P(T)) = 10, P(T) = 5., P(Ty) = 15 ¥ P(T) = 5 (e ©.)

d522 gl gl vadl HL ugiA 8, d =esidl dAeuadl P(E|T,) = i

2o wd, PE|T,) = 1. P(E|T) = 15 24 PE|T,) =0

50 5 % d 2" 510 uRded glRl A dl d ML Uddl Al
We, oyprl UHY glRL,

P(T,|E)= % {522 Ml Ul €14, dl d gl glRl Ul Sl dxil denasl

_ P(T))-P(EIT))
~ P(T,) P(EIT,) + P(T,) P(EIT,) + P(T3) P(EIT3) + P(T;) P(EIT,)
3.1
_ 10" %
3 01,11, 1 1 2
EXZ+§X§+EXE+§XO

3120 _ 1

20 * 18 2

defl, widla deua £ 8.

Geldel 21 ¢ s WA 4 il 3 AR AA old O d Ud B, d WA F5 D A wd O 5
A 9 HOL B, WIWR dd yals 9 Hew © ddl Acuadl Akl
B5E @ HR el 52 0 5 dd WA Ssdl yals © 1A 9 A Hedl B A wivi yalls
9 A 9 dd Hedl S, A yals o9 Hqadl Al dd et S, ddi,

Al P(S) = wais © Gemd 8 Al dewa =
P(S,) = wals t9 Gegtadl el a-dl Aeuaq = 2

&

N

PE|S) = %42 WuR yais 6 GeMd & Al @l yals 6 Gemd & d-l w52 8 adl
Aol

= QORI A 6lA 9 ddl deuadl = %
I ~

U WAV UIRAL UR Yauls €9 Beatadl Al U HIR™ i 52 8 5 yRils ¢ Gead

P(E[S,) ! A
9 d-l Al

— W A olddl Adl a-dl ienadl = 1 — % = %
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WM, Gl UHAL glRL 2B HIL 6,
P(S,|E) =™ 28l 53 8 5, yaiis 9 Gestedl 8 dl vk Yails 6 GeMadl did, d-dl Acuas

_ P(S).P(EIS))

P(S,) PEIS,) + P(S,) PEIS,)
1.3

_ 8% 1,24 _3
T 3 5 1 87578 "3
—XZT 4= x=—
6 376"

wel, Hidle Aena 2 8,
U 13.3

-~

s ULHL 5 Al 20Ul 2 5 S0 39Ul 88l 9. A2(E95 Fd s edl uAL SAML 24
9. dddl L Al de wetl wesl 48l eald 9. dguid, ¥ 3L iRl ¢dl d UKL 2
QEIRAAL B WML YSAUHL U B M AR olle s edl (95 Ad ude saUML 2d
9. oflol el dld AL Sl d-dl Aeuadl sedl ?

s dAMl 4 dld DAL 2 4 5100 3L 88U 9. oflon dAlMl 2 dld UL A 6 sl
AL g4l 9. amidl s ddl w2295 Jd uAe SAHL A O A 25 el d damidl
02895 A uie S2AUHL A 9. d Al UL HgH U3 9. el udal denmizl ue sul
Gl dedl Actadl L.

sido-l [Qenel>il U8l 60 % [Rendlil otaumi 28 9 4 40 % [Qendlil oiaumi
Wl Al dd sUd B, ol addAl uRRud uedl MEdl MO 9 3, onidami wdl
Cenal>l 45l 30 % [Qeuallot alils udleusi A A8 Aol 8 A wolayHl Al
ezl [enl>l 4l 20 % [Qengliot dusdl alls uleudl A g Hoedl 9. anl-d
siaxHigl s (el w295 Ad uie sUML UL A dBL A A HOdL © dM A
e, dl 2 [Qenel oouaadl gl deuadt sedl ?

orglasen sAUL Ul gl siuanl, [Qanel si dl gdior A8 8§ Al A4 52 8,

(el el odl & adl Acuddl 2 »iA gt 52 B adl Ao T B, Wl @l
5 Rl % oot it 52 0 A WAl G Al dewa ¢ 8. wule da Al d

ogalol AL AL O R [Qenela »uua gdel dooeldl edl d-l denadl sedl ?

s UARLAOL 5 ULERIHE, U2 d WMIAVR AL &l AR d A Wl slecdl 99 %
ABIRS V. A 9dl, e sl ulaRl Aed vilel v esiAMHs 0.5 % Y4l uw
AU B, (ed 5, ol @re Alsdd ulam sud, dl 0.005 ueuadl wd uawl [Rei-d
50 5 dd ol ©.) ol audldl 0.1 % dlsid wAvR ol €, dl wud Sl 5
a-ll udlaeld uReud ¢siuts © d uRRAMHLE dd ofldl gladl denasu sedl ?

AvL [RAssl wud B, s [AssidAl oid ouy ow O, oflwl vuHAlA [Ussl 9. dul
ol Hadldl Aqelddl 75 % 9 A ol AHdlA Rissl O, ol 2ds [Rssl

e295 Ad uAe s3I BRI d 9U oldld 9, dl d 6L 9 HRAAdL sl Sl d-dl
doladl sedl ?
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10.

11.

12.

a8l

s dlHisudlal 2000 22-A1A51, 4000 51-AA5L 24 6000 25-AlAsiAL dlHl Gl
Al glRL Adl HsLdlsl Aol 2453 0.01, 0.03 -l 0.15 &, dlsiast Usl-l s

Alsdr 25U AL d ge-Alds Slaldl Acuandl sedl ?

NN

s 3523l WA 6L WAl A i B 8. opdsiasdl i oldid 8 5, dst A Gawled arqil sl
60 % AR A ¥4 B 40 % dglld Gauled 53 9. afMi, At A gkl Gaulled
Qi USL 2 % i Aol B gl Gaulled argil Ul 1 % aqadl vudlysd edl. v ol
Rl s yrasouMl Yl Eldl v R o uHidl s axd AelEs dd ude 53l
2 d ve{lysd g wdl, dlododa Bogll Bculed dlaidl Acuadr sedl ?

s [Aoul [Ransi-l uBiladl ¢lel daaal Hie o aqel ¢3S 3 el 8. uay
2w (gl Al DA d-dl AUausl 2§dsH 0.6 2l 0.4 9. a4dl, B UAH AN
sl dl dl Gauled axd 2% sl deuadl 0.7 O uA Bdld wyS WS 23U
Aotadl 0.3 9. Adl Gauled dxq Bdld aHe gl 2% 48 ¢l d-dl Aeuna-dr sedl ?
QR 5 215 9153 WL GO 9. %l dd 5 5 6 HA dl, d [Rssid o8l auid G 69
e Ul AvUL AR . Al dd 1, 2, 3 UdL 4 MO dl d Rssid s Quid Gl 9
i OIU YL S1EL HOAL o B 9. % RG5O HOll S, dl d WL uR 1, 2,
3 udl 4 Hel gldiddl doenadl sedl ?

s SRVUALEIR WA 28 42 Aldsl A, B 2 C 6. uay ads A, 1 % viHlysd axdild
Beuted 53 0. oflon 6l Adsl B 2t C 2sH 5 % 2 7 % viHlysd dgiid Gauledt
5309, A sl MBd A4l 50 % AU S1H YR 9, B 30 % uHU LM YR W 69
A C 20 % AHA 514 52 9. viHlysd A Gedlest 4y O, def Geuler A gl gy Slaixdl
Acllanl sedl ?

52 udidl aisdluial »is ug vias o 9. ousl WAl udidl dlsdaial ol udl welos
Ad we AL AL 2l HGH UL § d ol Alsedl unl 9. vilaldd g Alsed €
a-l Aetarl el

well 13 dal 14 4 [ i o4 d 2d sula [@sadiaial dou [@say wis s

13.

14.

A A Ol 9 ddl Acuadl % 9. s [AssL Goldl 9. A Wadl 20l 9 5 oy yoil
9, VAW 9 &dl ddl Adeuarl ... Sl

4 1 1 2
(A) 5 B) 7 ©) 3 D) 5

A P(B) #0 2 A c B €l ddl 6 geizil A v B e <flamiall s34 At 97

(A) PA|B) = 3 (B) P(A | B) < P(A)

(C) P(A | B) = P(A) (D) 2umidl s ue e,
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13.6 w2(e95 AL A AuAl Acua-w [aden
U8 Ul[E95 WAL i Healasiall [ e s91 8. Al WSIRAL Hlel Gl YHRIHI,

UBL HIGL 2S5 AU URRUM Betid ddl % A HAAAL L Sdl, Ui -lAAL Geleel/ Mot

oldledl MG, o URBUHL A1 SIS AvUL AS0UA dML UBL IYBRLA A Sl

(1) uuBll A 6L WAl GonalHl, duedl U Hodl Avaislidl AL Sl Uus.

(i) (g5 50 R GeowolalHl, 2UUBL HOE Ul oAl ol 929dl Sl

(i) %Hi 6 axq vuHlysd © ddl 20 Alwazdaiial golaimial wiglos Ad AR Alwagil

(315 uwedl 2s) Al wdBE, wuE ARAL MedHl vHlysd argHl Aval el
wiollol lat 2 e 5 vudlysd dar wlRldd Algazgidl asilui.

GUAL MM WAL, el WA UM © 24 d wddl udls uReuHd 215 ardlas Aqval
AL UAAA 52 D, 2L s ARAlAs AvUL WAL gel-gel URRIML Al tledls A5 O, il 5128,
d Ad O, aoll, dd Yt w295 udldAl uRRuH U 2R © A ddl, dd qelEes Ad se B,
W95 =ad wHA Ad X gl sala 9.

ol d¥ [A8u-dl cdval dle 50U dl dH MeUBl AU AsAL 5, WER9s Ad X, v séll
dl %+l ueal q1E[E9s walol uReudlL AL (dadl [ealasial) i dd @Ay ©. wels ad 51
uel diRdlds Avdl el 53 A5 O, AL uRRIHIY ddl AUBA ARAQS AvAUAL 8L 9 A
dgdl, weleos uaqd A wHel valRd s3I0 as ©

Quual 4 @ il Ued wElEs walal [Realasi & Al diealds yedlq [Q4uq wglzs
A4 58 8.

BelsR@l dils, AL ULl s (U5 sMA: 6L avid GeownalAl wdoL (@l [l

2l wdaiAlL Mealasia S = {HH, HT, TH, TT} ®.

A X dnda -l vl sald, di X 3 wgls Ad 9 A uds uRLM W2 d- e
A2 e wmIEl 9

X(HH) = 2, X(HT) = 1, X(TH) = 1, X(TT) = 0

A5 o [Medldstal Y s sl al qelos ad vuiRd 30 asn 8. Gelew dily,
HIZL 5 Guadl Mealasia S Al udls ulReud =2 Y »i ol dvanigl sieidl vl oigousl
gald 8. dl,

Y(HH) = 2, Y(HT) = 0, Y(TH) = 0, Y(TT) = -2

H, X A Y s o [Mealasie S u clvuild o gel-gel dgEs Ad 9.

Beldwl 22 : s Alsd s Rssid o Gl Md 3 9. WS 91U M2, 2RI%S IRl
dd T2 2UUAHL A 9 A UAS sl HIZ, d T 1.50 s 2 9. X sl Haddl
ual opddl sy euld O, suldl 3 X Azl A4 9 wA dd wddHL Fedlasia ur-l
(@8 a3 ealdl.

G5 : X ¥ Avul O, ddl Hedl Wzos wAdHl wReuHl ux cpvailRd 9. el X
q2[H95 A4 9.



474 ABLq,

¢d, WAl Mealasia
S = {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT}
usdl, X(HHH) =32 x 3 =% 6
X(HHT) =X(HTH) =X(THH) = T (2 x 2 — 1 x 1.50) =¥ 2.50
XHTT) =X(THT) =X(TTH) =% (1 x2 -2 x 1.50) = — % 1
A X(TTT) = -3 (3 x 1.50) = — T 4.50
A el [Ransdl vadls s oidid 9. 204, Mealasiadl uds g4es w2, X udd Bud
d 9. 2 Guadl, X 1 Mealasia u-d [@8a 9. d-tl R {1, 2.50, —4.50, 6} 9.
BElgR0L 23 @ 25 Al 2 Ade Il 84 A 1 Al 9L dl 8. s edl qgRs Ad e sdl
A ugdl el 290 Al dewmi ud sl €l s¥el d Wl yrladq sd o X, oid avid
295 A ue s ad saxdl AvaL suld, dl X o qgiq 53,

B5a : dami el ey wy, wy, r a3 saldl ull Fealasia
S = {ww,, WWy WoW,, WoW, WE, W, FW, Iy, rr} Hil 8.
gd, ® € S MR, X(®) = dld 2L sdl-il Al
il URBUH 3Y,
X({ww}) = X({wyw,y}) = X({w,aw,}) = X({wyw}) = 0
X({wyr}) = X({wyr}) = X({rw;}) = X({rw,}) = 1 21 X({rr}) = 2
214, X 2 W95 A4 © wd d Budl 0, 1, 2 & ©.
13.6.1 wel9s a4 Atia-u [Ade
AL SUUBL B 5200 [, forwr fip USL W5 5300 W[5 uAE s2UAL UHLL 4B, UAS g2ol
ude Adidl "erl AMAGUAL O, WA 5 520U £, froes S ML AN 3, 4, 3,2, 5,4, 3,6, 4,5
AL 69,
AL 25 5200 uAe 3B A A 2ol uedlHl Avaid X ad galdlal e 9 5 X v A
WHISL qedld g5 a9 ¢
X(f) = 3, X(f) = 4, X(fy) = 3, X(fy) = 2, X(f5) = 5, X(fy) = 4, X(f) = 3, X(fy) = 6,
X(1) = 4, X(fi) = 5
M, X 2 ue YA g2t R 2, 3, 4, 5 vudl 6 Ul 515 un BHd as ud 9.
gd, WU g0l f, ude WA AR X Bud 2 Al wwR ggoll f, £, f U8l S um s
s300 ude AA AR X Bud 3 4 @,
L% UHIBL, PU 530U £, f; AL £ WSl 515 g0t ue WA AR X = 4
QU 2ol f; 2Adl £, WSl 1S g2l e WA AR X =5
A AR §30L f; UAE WA AR X =6
U8l Hirl efly 8 5 Uls §gol ude Y o Hedll uHAeudl 8, Hie s2ot £, ude Uy Sld d-il
Aetlddl 1 9. M, A4 X Bad 2 dd 43 drdl deuddl & 6. el avilsl PX =2) = 5.

10 10
aoll, 526l £, f, @acl fouidl SIS ws wae w d-l dewadt P/, £, S = 5.
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AME @vilal P(X = 3) = 2. i % WHEL, 2usd wa 9.
PX =4) = P({f, fo 6} = 15
P(X = 5) = P({fs. o)) = T
i P(X =6) =P({f;}) = 15
20ER9s AdAl Hedld dusil 23U deudApil WE Y sl 2L adldAd wzEs ud X o

Aeladl [Ade 58 €.

Aus 3U, AE95 A4 X AL Aolddl Qe {12 wHel R sud o
QAL 5 AERs Ad X J A [AdRe Y vl ugld ¢ :
X: x x5 .« X
PXX): p, D, w P,
. n
2, p; >0, Yp;=1,i=1,2,.,n
i=1
aialds qvasll x|, xp, .., x, 21 AE[Es A4 X Al Aildd yell © w4 p, (i = 1, 2...., n)
w95 ad Xl Aeuadizll ©. d Budl x; ad Wl 8, ved 5 PX = x,) = p,.

anggdl - wefis aq Xl S5 wsa Bid x; Qi dl [@an X = x; Fealasiadl sedis Bigyil
AL AH 9. 2l X 2 BHd x; 21280 53 dxl Aeuanl édal gAd 8. P(X =x,) # 0,

Guid, Ael9s A Xl dm wasy Budl we, Fealasiadl s g2 suadl da 9.
i 51300, AeAAl [QdWHL dHIM AGUAARAL AL EHaL 1 Ydl BSL.

Gergel 24 uvll Ad Alual 52 udidl disdHisl o udl yrasil wled sH: ude sl 2ud 9,
5L Avaipdd Aetandl [Adel sl

B5a : wisspl Aval wel@s Ad B, dd X a3 caldlal, e 9 5 X 2 0, 1 el 2 Budl
ad A5 .

gd, udl we saldl WAl yrasl Aldd wdl 9. el 6 ar uwde sl uBa Rua
gl [fuiel 52 6,

214l P(X = 0) = P (2551 l& 24 21550 <A[8) = P (24551 l3) x P (251 «i[&)

:ﬁ

w 48 _ 144

52 52 169

P(X = 1) = P (21551 i 2551 A[3 2ual 551 A3 2 2151)
= P (2550 244 21551 AA[3) + P (U551 e 2 2is51)
= P (as51) - P (21551 -l8) + P (21851 <Al2) - P (2i551)
_ 4 048 48 4 _ 24
5% X5 TR X5 T T

N _ _ N \ N\ N\ \ _ 4 4 _ 1
r P(X =2) =P (2851 21 21851) = 55 X 35 = 155
UM, MOl Aeladl [Ade o : X 0 1 2

144 | 24 | _L
P(X) 169 169 169
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~

BEla0L 25 ¢ 6L WA AR duid F5dl Hodl AH sl dva Aeuadl [ddel bl
B5d : A 3 X A Al dval sald 9. wsy wA A (1, 1), (2, 2), (3, 3), (4, 4),
(5, 5), (6, 6) ®. e © 5 X, Budl 0, 1, 2 2AgdL 3 49 A% O,

ML S Hoadl-]l doaal = & = 1

36 6
Al A o Mol oAl = 1 - L= 3
6d, P(X = 0) = P(2l5 ul avid - %8 le) = 2 x 2 x 2 = 13

P(X = 1) = P(¥is uMid %8 2 6L A oas L)
xixieixixieicid
355 - &
P(X =2) = P(6l dMid %8 A wisuld o8 )
bk xiedxdxdeixdad
e P(X =3) = P(olBl A %) = + X £ X T+ = 72
UM, MOl Aeladl [Ade o - X 0 1 2 3

125 I I .
PX) | 2% 216 216 | 216

251400 ¢ AL ARALL

n
Z — 125 . 75 15 1 _ 125+75+15+1 _ 216 =1
i 216 216 216 216 216 216

GElS20L 26 : WA & X w295 d uAe s3dL WUl Rad e[Huld dHIRL 2eddslL sdlsL sald
9. X v Y x A del Acua-dl <Al @3udl ud 9. k 2 5155 islld A0 9,

0.1, x=0
kx, x =12yl 2
P(X = x) =
k(5 — x), x =3 »ydl 4
0, 2|

(a) k< uet sudL
(b) d¥ ML 2L 6L $Als AR 3L 91 d-l Acladl S2dl 7 6lRAGIR 6L 5Als AU 53U
9L dell Acuasl sedl 7 agui ay ol sdls el S 9L d-l Aeuadl sedl ?

Bsd @ X+ dewasw Qe | X 0 1 2 3 4 | ®.
PX) | 0.1 | k |2k | 2k | %

(a) »uusl el A 5 ¥ p, =1 He 0.1 + k + 2k + 2k + k=1 »ed k = 0.15.
i=1



AL 477

(b) P(d® LMl 201 61 5ells 2R 52U 91) = P(X > 2)
=PX=2)+PX=3)+PX =4
=2k +2k+ k
=5 =5x%x0.15=0.75
P(d¥ GRIGIR 6l $Als e 52 1) = P(X = 2)
=2k
=2x0.15=10.3
P(d® a4l a9 6l sals e s2U 1) = P(X < 2)
=PX=0)+PX=1)+PX=2)
=0.1+k+ 2k
= 0.1 + 3%k
=0.1 +3 x 0.15
= 0.55
13.6.2 wglB9s A4l Htus
qeil welMi,  Su9-lu ¢l 9 5 wel@os uadl Sedls [Alre qawadl awiddl Acudasl
(el uzel 530 wsi i vis o Avdl gl aeldl asii. sucl dedls Avasll © — Heis, Wy
e olg@s. v (oo, uudl ot weas<l Al 539 s Bl Wu vl qeaadl Raladinsd
WY 9, dddl 2 B 9 5 Hews wIEEs uaddl ARAA AL WL Yeddf e sl 82 0,
QAWAL 6 ¢ QIRL 5 X 2 WElYS A ©. dnl AsU HEL x,, X,, X;,..., X, AYFH ACUU)

-\ r . ” |
Pis Pysews P, A GEMA 9. X il H&US p gl gy . d dval Y, x;p;, &9, Yed § X il

1

=]
Heys ¥ Xedl asy [F4dldl culRd 42ua . Uds [54a ¥ deua- 4 d GeMdl &9 d dHeua-udl
®ilRa 8.

295 A4 X Al Hesa Xl oulifas ual uel s¢ 9. dd E(X) 943 sulad 9,
n

M, EX) = W= X x;p;=xp +xp, +t.+tx,p,
i=1

oflog oell, q1E(9s Aq X -l HAs Al d-il dulllas »ua 1 XAl duid Asd Heudl
A Uq3U ACUAAIL AL IRISIRIAL ARl 6.
Beld2Wl 27 ¢ R 5 WAl %A Gl a9 i A12[E95 Ad X B oid WAL U HAdl

Aualolicl AAOL 9. X Al Hets viadl duBlas 1ua L.

Gia : ol Mealasia 36 Yueld dedivil, s1ysd A (x;, ),

@ ox; =1,2,3,4,5 6261y, =1,2,3,4,5 6 134 4ud ©.

Y2[X95 A X A 5 oirl WAL U Ul vl A0l Hell 2, 3, 4, 5, 6, 7, 8, 9,
10, 11 2Agal 12 & 9.

¢d, PX=2) = P({1, 1) = &
P(X =3)=P({(1.2)., 2. D}) = &

P(X =4) = P({(1,3). 2.2, 3, D}) = 5
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P(X = 5) = P({(1. 4. (2.3). 3. 2. (4. D)) = +

P(X = 6) = P({(1, 5). (2. 4. (3. 3), (4, 2. 5. D)) = =

P(X = 7) = P({(1. 6). (2. 5), (3. 4). (4, 3). (5.2). (6. D}) = &
P(X = 8) = P({(2. 6). (3. 5). (4, 4), (5.3). (6. }) = =

P(X = 9) = P({(3. 6). (4. 5). (5. 4). (6. 3)}) = +

P(X = 10) = P({(4, 6). (5. 5). (6. D)) = =

P(X = 11) = P({(5. 6). (6. 5)}) = &

P(X = 12) = P({(6, 6)}) = ==

X« deudaril [Adza 8.

X=xl. 2 3 4 5 6 7 8 9 10 11 12

_ 1 9 3 4 5 6 5 4 3 2 1
PX=x)24Up;| 36 | 36 | 36 | 36 | 36 | 36 | 36 | 36 | 3 | 36 | 3
_ - _ | 2 3 4 5 6
ML%‘LM—E(X)—Exl.pl-—2><¥+3><%+4x%+5x%+6x%+7x¥

i=1

5 4 3 2 1
+8X%+9X%+10X%+11X%+12X 36

_ 2+6+12+20+30+42+40+36+30+22+12 _ 7
36

M, ol AHALA WA GOLOdl dHeAl U MOl AvUAAL ACUOUAL MRS T 69,
13.6.3 weleys aad (A

Az(E9s Aadl Hens suued welEs Addl Budsl uRadqsladl @ S8 ledl 2uudl
Al dirdaxl, gl [d22e (Variance) s €ld, dl w2[Fs dasdl Budl waasedl dws diu 9. aull,
gel-ogel Acuanl [Adelaon d1gEes Adidl Hs AHIA 1S A5 9. Belgwl dils, 1A 2utal Ad
X v Y Al [@del yHel,

X 1 2 3 4

o | 4 [ 4 [ % |4
Y =l 0 4 5 6
o | 3 &8 [ % % |3

wWe ¥ 3 EX)=1X ++2x2+3x 3 +4x2=2=275

AL EY)=-1x 1 +0x 2 +4x 2 +5x L +6x

_ 2 _
3 3 3 3 _?_2'75

1
8
A4 X 2 Y Yel-%el 9, d¥ 9l dHel Hesl dHA 9. d i [Adeidl sl gl Rewl

watfciell Adaddl S wsid dn 8. (dusla 13.5)
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PX) P(Y)

Y1 Vs

Y1 Ys

51 ” n‘/s ” H

iﬂv 1 2 3 4 i o 1 2 3 a s 6
@) (i)

2sld 13.5

X Y a2l de vlovidl, dgfes adi-l Budl 5O qlH yHl saddl 9, dq s el
LA %3 D, AisAUAUL, UL oA UL O 5, (AU A MR uAR Al [@AviRiagd
Wy 9. vl o el wel@s aAd-dl Budl wRadAslladl 2qaar ya [Qare gl Wl asd 9.

AU 7 YRl 5 X 2 WEls ad © d-l asy Budl x,, x,,..., x, ) AU 35

b
P(xX)); P(X3)seees P (xn) g.
Xl 4&ts po=EX) dl. Xt [Q228n Var (X) 224l 67 g2 salad & 214 d
2 n
G = Var (X) = 3

Fa

1

(x; — 17 p(x;) g axud]l 67 = B((X - p?) glat cuvalld a 8.

1

gl Wl 6= [Var(X) = \/i(xi—u)zp(xi) 1 wgls aq X g wwldia (dad-
(Standard Deviation) 38 8. -

weliss aad [Qarw lwad s YA

AL el 9l 5,

Var (X) = 5 (x; - 02 p(x)
i=1
- fl O+ 12 - 2 plxy)
= 37 ple) + TP - 3 24, pl)

= X pl) + WL p) - 20T x; plx)

n - n N n
= ¥ plx) + p2 - 22 (3RA 3, ¥ pa) =121 pu=3x p))
i=1

i=1 i=1
= 2 Pl - W
n n 2
»yql Var (X) = ¥ x? px;) — {E X; P(x,')]
i=1 i=1

»adl Var (X) = E(X2) - [EX)]?, @, E(X?) = lez plx;)
i=1
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Belgaml 28 uHdle WAl Bodl d-l ur Hadl Avaid [Gaze oliHl.
Bia @ wdoidl Mealasia S = {1, 2, 3, 4, 5, 6} 9.

a8l

QR 5 X oL W Geoncu]l Hadl dqval sald 8. qdl X L 1, 2, 3, 4, 5 dl 6 [Fudl

as asdl wleles wqd .

aull, P(1) = P(2) = P(3) = P(4) = P(5) = P(6)

L
6

i, s1R8L X o Aelal [@de | X 1 2 3 4 5 6 6.
1 1 1 1 1 1
P(X) 6 6 6 6 6 6
S u ] 1 1 1 1 1 21
é.C{,E(X):leip(xi):1X€+2X34‘3)(34‘4)(3“1‘5)(34‘6)(3:?
=
212w L 2o 1 2o 1 2. 1 2 1 2o 1 _ 91
il, B(X?) =12 X ¢ +22 X ¢ +32X ¢ +45 X £ +52 X £ +6° X £ = <
2112 _ 91 441 _ 35

s, Var (X) = E(X?) - (E(X)? = 2 — |

BelsmL 29
yraelléd) ude sl 2ud O, AWML Avadl v, [Quer ud

4L
Gia :
A4 9 A d BHdl 0, 1 2udl 2 I8 52 9. ¢4,

481
48 2148 2)!
_ _ _ CZ o= 2 48 w47 188
P(X = 0) = Pl «lg) = = = 521 = 5%%51 - o7
C, 21(52-2)!
4~ 48
N N A C G 4% 48 %2
P(X = 1) = P(2ls %l 2 215 s «ile) = Cpa S F
2
N B A B 4C2 _4x3
w4 P(X =2)=P(a un) = e, T T
2
2, X Aelad [aa | X 0 1 2
188 32 1
P | =1 | o1 | =1
> S e 188 32 1
=
n
2y — 2 — 2 . 188 2 32 2 1 _ 36
C{Uﬂ,E(X)—Elxlp(xl)—O Xm‘f‘l)(ﬁ‘}‘z Xm—m
1=
N TURY) 6300
— 2 2 36 _ (34 =
e¢d, Var (X) = E(X4) — [E(X)]* = 37 [El 22172
_ _ J6800 _
2], G = JVarX) = 5> = 0.37

220

sl Fld Alual 52 udidl aisduidl s o ydl (Al 25 gl s 2wy

wHIBld  (qag-

QL 3 ude SAUML 2dd 6L udid, X 2 el Aval sald 9. X 2 wiglEos

32
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ALY 13,4

1o oA W8l sui [Ade wels Adadi qciadl [@del el d avil. dHRL sdierd wudq

530

(i) X 0 1 2 (i) | X 0 1 2 3 4
PX) | 04 0.4 0.2 PX) | 0.1 05 [ 02 (0.1 03

Gi) | Y -1 0 1 (v)| z 3 2 1 0 -1
P(Y) | 0.6 0.1 0.2 Pz) | 0.3 02 | 04 | 0.1 |[0.05

2. WS YSML 5 dld WAL A 2 S0 VAL &4l €.

€~

pld B, A S X 2 5100 2L sl AvaL gl
9 X wels g6 ?

3. HIRL S ol [Rssid 6 avid GoldiMl 2Ud 9 U X ol il vl i sieldl AdvaiHl
dstad sald 8. Xl asu Budl o & 7

4. (1) Rssid 6 aud Godl Hodl sl dvyL
(i) ol [Assiald s Guoradl Hodl sietdl dqva
(i) Russid A1 avid Goadl Hadl -l qval
Gl dl 2L 28U (BRUUHL HAeudl [Qdel stk

5. 9 usodl (i) 4 s2di {2l vl (i) 200 2090 35 WAL U Yalls 6 HA, 3 yd
AquAd Adl Gl dl WAl 6L dvid Gl AsNdl Hadll Avasiig Aoiadl [ddel
LAl

6. 30 dlogoll- olouxdinial 6 oo wlysa 9. yrasl AR 4 olouii-l Med q1zF9s d
cldl . vu{lysd allousii-l Avar e Acuadl (el bl

7. s A5 AAHAA 9. dd Georoidl 91U Hadl-dl Aciadl d siel MO d-l Aetiasdl sl 2Bl
aRfl 9. ol Russinl 6l AR Beracmi 2Ud, dl sietdl dval Hied Acuadl [Adel el

8. s welEss ud X Acuadl [Ade A el ©

6L gl w95 Ad udbe sl
9, X+l asy Budl 55-58 © ?

X 0 1 2 3 4 5 6 7

P(X) 0 k
ey sl 52 (i) &£ (i) P(X < 3) (iii) P(X > 6) (iv) P(0 < X < 3)
9. welkes A X o Acwardl [Ade P(X) 1A 2utd a3ud 9. & 5195 vl ©

2k 2k 3k k2 2k |7k + k

k, x=0
2k, x=1
P(X) =
3k, x=2
| 0, 2|

(a) k< et L
(b) P(X <2), P(X <2), P(X > 2) 2llHL.
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N

10. 215 AHAlA s 2180 auid Geooidl Hadl eu-dl dvaidl wes L.

11, 6 wiRid 2sA1d S5l 2Ud 9. % X 6 Hacusl g4 vl sald dl Xl oulilas
YL 9L,

12, uad &9 4 yaisiil wzfes Ad o Advaiil waie (yraelled) 53 8. w3 X 3t 6
qoddl vzl 4l WEl dval sald 9. E(X) 9l

13, 920 3 X 3 6L Addld Wi Gowdl Hadl dvasiidl wdel sald 9. dl X<
(G20 2 uMLBld (st ML,

14. s a9l 15 [Reulail 9. dudl au 14, 17, 15, 14, 21, 17, 19, 20, 16, 18, 20, 17, 16,
19 >4 20 ad 8. »is [Qenel wie sl 2uell 8. udls [Qeul ude -l wu-
Aotarl ol 2 wie adar [@endlHl au X il 9. welEs aq X o Acuasl [@dw 9
97 XAl wus, QU vid yilBld [Qaad Ml

15. 215 6165l a5 M euiddl d3AMl 70 % AL 4 d-dl [EQ1HHL 30 % ucdl €.
w5 w qe9s Ad ude sdl A Bl 4 [RM 5, dl 2l X = 0 A %l d
d3QHL Sld dl X = 1 adal. E(X) 2 Var (X) 2l

well 16 dal 17 4 [@Qad a0y o4 d 2d suia [Qsediaiel dou [@say wis s

16. 215 WAL 28 Y% U 1, 6L Y% U 2 2 25 Y U 5 iEd €ld, dl dd Gl

YAl AvUDUAL HAS .. £,
8
(A) 1 (B) 2 (C) s D) 3
17. 92 5 udidl aisdiel o udi wel@9s Ad uAde sAUML A 9. R 5 X 2 1ag
ssiviiAl dval sald 9, dl E(X) < Y& .......... 8.
37 5 1 2
(A) 221 (B) 13 (C) 13 (D) 13

13.7 oigell wael »i (gudl [Qdw
13.7.1 oiidl Yl

gl udoll Haod Fd [Boussizs ¢l 9, evdl dls, Goadl st ‘o’ zaar ‘siel oldid
. Gld dad ‘alfysd’ el ‘AR, wadl ukield ‘e’ el A G a3, Sat ‘o2 wiw’
MUAL ‘0122 A ), [FEld ‘Gl 97 Al AL D7 43R, il BRusiHi, d M 8 3 s uReudn
ASN s8d i oflan UsA-AlE udl Gusw’. Belewl dils, Rssid Gowall, @l ol
Bedd, v el AsAdl dls [Qudla, dl sled Geetad At [fsadl .

835 duld 213 UL [RUssl Geoollal ol WaAld Geolulla & 21 515 AL 53021, AU U8l
dd Ydet sSla il ol Rissid 4 avid Goowllal, dl Wdetidl dval 4 9. 35 Wit o ulReuMl
9; ‘Usndl Yl ‘[rsadl’.

£35 Harid ulReouw ol ¢ g waeru ylRvundl [R4a ©9. sal HAIH] 4sAAl 249l
[Asaai-d deuan +u0 28 8. 2idl 9 dda Uil o ¥ uRouy Usaar’ w14 (Asad’ €y
dHn ol uael 58 6.

vl 8 : A4+l ARdld UMY sl WERS WAl YAl vidd] uuil 58 8.

(i) wdi-il dvar Aled Sldl 2.

(ii) w4l [R4e €l NS4,
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(iii) Hcds Hdeid Assausl o 24 o o ylkouyl & : d4sadl A [Asadl

(iv) dsAdi-l deudndl Uds YdeHl dHI7 S 69,

Gesdl ddld, WA 50 duid Fsdl 3 50 oiddl uacldAl B B, ddl uds udeid
UREUM AFNAL (40U Avdl 5€1) © 2l [Fgodl (3o Aval) Sl 9 2 usadisil Aeua-l (p)
i URAA 50 Auid S5All dHIH Yol HI2 AHIA 9. 3, dllsdl WAl $saldl Mdetl MU
UAIOLL . ol URAL AMAle Sld U dedl 89 Yl U vl 1Yl 6 2Bd €, dl p = % e
g=1-p= % = [sundl-l Aeuasl.

BEIRWL 30 @ 7 cld DAL 2 9 5100 2L 84l HRAAAL WALl 9 el Allsdl sMs Id uwde

SAML U B, 835 Ut uedl uAe S edll WML (i) uRd WAL O (i) ud HsAl e,

QAU B UdE sl WAL oiell Wdell 9 3 Al d sl

B3 ¢ (i) el dval Al B, w2 yrael AR e ue sl Ay, AR As0dl-l Al

(e 32l edl s¢l) p = % 69, el yrasll AR el ude sl YA ol ud B,

(ii) 22 gdl ude sal yraelled ad 8, AR usndi-dl Aoua-dl (ved $ dla au-l edl)

YA YUl % £9. %l YUY YAUL SWAML AAd 6l dld L 1A dl ol el % 9 e
7

ol WAH AL SAUHL 2UAA eIl S0 DAL S, dl d 5 0 A UH 210 AR AU, W B
5 usidldil Acudnl ofl % YAt W2 AR Al B SR8 2L udetl, otdddl el -z,
13.7.2 [gudl [daw

Rissi Geornaidl waddidl (@22 530 dil Ucdls Wdold wREuM ANl (561 91u) adl
Frendl (5121) 8. Uds WAL S v F 2eqsil As0dl 2 [Hreoidl eald 9. Q10 5 Suuell 2
o HelHL GUBLA €9 UACUHL 215 ASOAL HOL 2 82l AHAML .

e 9 % 19 gel-9el [Asell A wel 3u w9

SFFFFF, FSFFFFE, FFSFFF, FFFSFF, FFFFSF, FFFFFS.

6!

41x 2!
Uil dlEl sl vor dioll UL as ol e, Asndil 0, 1, 2, 3,..., 7 AvAl-l Aeia-diviis-l
AL @loll A =Rl AHA 1ol @ ddl €IS us 9. dioll a@dl v dm asd Bl wigl
auiz s2auel g2 Redl, 7 oddl WactHL Asndl-l Avai-l deudApil W2 s Yo Haadwl
il 9. Al U % AR oirell aell gRl FBA 24l Sl AAdl s URRL AL g W2 AsH,
AHl Uds WAl e AL i [Fsadlddl Aoudndl dsH p i g = 1 — p 9. 2L WAl
[Mealasial 0wl

S, = {SSS, SSF, SFS, FSS, SFF, FSF, FFS, FFF} €.

ASAADAUAL AvaL weE9s ad X 8 2 d BHdl 0, 1, 2 tadl 3 d 8, AsAdlvd-l Avdle

dAelladl [Adel 12 wHel o

P(X = 0) = P(d59dL -l&)

= P({FFF}) = P(F) P(F) P(F)
=q-q-q=q 520 5 udcil e O,

WL Y UHIGL, 6L ASOAML 2 AR [Frsuidlpl M2 sHAAL SIS A5 9. L oML
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(215 AsUL)

({SFF, FSF, FFS})

({SFF}) + P({FSF}) + P({FFS})

(S) P(F) P(F) + P(F) P(S) P(F) + P(F) P(F) P(S)

P(X = 1)

P
P
P
P
= paq + qpq + qqp = 3pq?
P(X =2) = P(& usudl)
= P({SSF, SFS, FSS})
= P({SSF}) + P({SFS}) + P({FSS})
=P(S) P(S) P(F) + P(S) P(F) P(S) + P(F) P(S) P(S)
= ppq + pap + qpp = 3p’q
w1 P(X = 3) = P(al2l usudlll)
= P({SSS})
= P(S) P(S) P(S) = p°
A, X denadl [@Ade . [ X 0 1 2 3
PX) | ¢ | 3pq* 307 | P

adll, (g + p)> < (Buel [Gda &,

¢+ 3¢%p + 3gp* + p

Rl B 5 usadel 0, 1, 2 2dl 3 <l Acuadipil (g + p)® -l [Gdexl HsH uan,
(edld, gdla 4 agd ue 9.

aoll, ¢ + p =1 dlaiel, 24l ol AeudrlAl AN, A%l YHE 1 8, ddl s HoL 9,

M, 28 dRdl Al 5 p oieddl WaeliAL wAME 0, 1, 2,.., 7 SOl Acud-iil
(g + p)'-l [Aedeml uaH, Bdld,.., (r + 1) ue dls Hadl asi. v eldl AUBd sa1 Hie,
Al 28 7 otdedl UActiAL WML x AsAdAH]L Acual 2l

W 9 5 x usndddl (S) L BRudl, (n — x) [Rsaddl (F) waal.

ed, x Asadzll (S) 24 (n — x) Frsadwll (F), #_'x), usiy Hodl s U USIRL
Uslrl uAsHl, x ustdl 24 (n — x) Fesadi-l e
= P(x Aasadzll) - P((n — x) [Frsadisll)
= P(S) - P(S) .. P(S) - P(F) - P(F) ... P(F) = p*-¢" "~

x-dvid (n ) avid

-~ . N . n!
H, 7 oiddl WAl x AsAAHlL Aeudnl oo P

»adl "C p* " T * .

UH, P(x asqdiil) = "C p* ¢" ~ %, x =0, 1,2, .. n (q=1-p)
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~

e 9 5, Plx AsAl), 22d 5 "C_p* ¢" ~F A (g + p)" U [Guel [Gammi (x + 1) ¥

-~

s .

M, n-olfel WAl HAAAL WAL AsAAHL Avad deuadl [@AdRA (g + p)? A
(Guel [Grdzer gl Hadl astd 24 dell, 20 usadieidl Aqvar X [@da {3 wsusl quil
Asle B ¢

X 0 1 2 X n

P(X) nCO qn nC1 qn— lpl nC2 qn—2p2 ncx qn—xpx ncnpn
Guisd deiau [Aawe, 2 yAdl n 214 p wd-u lguel [aw dals 2wy ¢, s 3
28d [54dl n 2 p el 2uugl dygl deua-u [Ade w4l asly gl

x wsudidl delladl P(X = x) A ugl P(x) a% sl © x4 dl
Px) ="C.q" " *p*, x=0,1,2, ..., n (gq=1-p
2 P(x) 1 lguel [aag dcuq-u [Q8a sdayi 2ud €.

N US WA 45Nl dMidl p Qld, dl n-oiddd] wacdl wd-u [guel [Qdeq
B(n, p) &l2l gl €.

AlAl, I8 ¢d sedls Gelewll a4,
BeleBL 31 @ ol AHdld [Assid 10 AR Gl 2id, dl Al deuadl sl :
(1) elueiR &9 avid o 1oL, (i) Gl Hiedl €9 avid o ol (iii) dsHl ag €9 avid 9 Al
Bia ¢ Rssi Godil yrialdd uBdl oiddl uacll 9. 9 3 X 3 vl 10 Wacelimi
wadl ol vl sald 9.

W2 95 X aon=10 21 p=1 Wi ([Guel [Qdzel wud o, e,
PX=x)="C.q" *p, x=0,1,2,..,n

§wél, n=10,p=2+,¢g=1 p——

. 10 10!
¢, (i) P(X =6) = 19C; (1} = g - 57 = 493
(i) P(Au9l 28l 6 Auid 91u) = P(X > 6)
=P(X=6)+PX=7)+PX=8)+PX=9)+PX = 10)

- 10c, (%]10 + 10, (%)10 + 10¢, [%:}10 + 1oc, [%)10 T 1o¢,, [%)10

101 101 100y {101y (1on]
= { 6!x4!}+[7!x3!]+[8!x2!)+,I9!x1!)+(m)j| 7 = 35
(i) P(agdl Ay & quid 9u) = P(X < 6)
—P(X =0) + P(X = 1) + P(X = 2) + P(X = 3) + P(X = 4) + P(X = 5) + P(X = 6)
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10 10 10

10 . 1410 . 1410
— 1 10 10 1 10 1 10 1 10 1 10 1
= [4)° + e, +19C, (3] +10Cy 3 + 10, (5] + 105 (5] + G (3)
_ 848 _ 53
1024 64

GElsanl 32 1 35 w2l 10 % 4 virlysd & 21 »i oenisl] sy 10 S yrasll uldd sea
AL B, o e s Of virlasd Gl sl Al oL
Gia @ WA 3 X A wde sl 10 Ssinigl wilysd Seivliedl dvar gald 8. S0 sieasdl
wBul yrael Alkd sami sudl Slal, uacill oddl dactl 8. e 9 5 2 X n = 10 21

p=0 =L i oifell Rdze &

well, g =1-p= 1.
¢d, P(Aloi 2 A5 wilysd §5) = P(X > 1) =1 - P(X = 0)

10 10
=1_ 10C 9) :1—190T

AR 13.5

1 215 WAL 6 duid 35aUML 20d 8, o 2404 qval Hadl” 3L Ausudl S, dl (1) 5 Asudiil
ol 7 (ii) 200l gl 5 AsAASL WA, (ifi) A4ML A 5 ASAAL HIL d-l Aciaxl
sedl ?

2. Wil il 4 AR F5AML A 9. gl AHIA AvUL A8 MO A sl Al dL 6l
ASNADL Hodll AL AL

3. aqalidl Hiel Ml 5 % wiHlysd deqall 8. 10 agidl [esd 2s sdl quR
wi{lysd dgdl M 522 Mg, d-ll Aena-dy sedl ?

4. Al Ad Al 52 udidl disdaidl sHa: wid udi yraell aldd vaasi sud 9,

(i) otal o iz udl stoll- € (ii) st 3 udl o sl € (i) 245 wel ud sl
el d-l Aeuadl sedl ?

5. w5 3523l gl Gauld dlogolldl otow 150 [Ba-l auzia ugdl Gl ond dedl Acuasl
0.05 . dlogoildl 5 olousil Ul (i) s wal Al (i) 2 sl ay & (i) 25 sl au
(iv) 2094 29 215 clogolll 20, 150 [Rarl auzlal ussl GLAL o d-{l deiarl L.

6. s Ml 10 84l 9. WS 42 0 ol 9 widl is Avul 2i3d 9. o deuHizl 4 el allsdl
yanl Aled sleal ud, dl s usl el U Avdl 0 2QEd 4 €l d-dl deuad
sedl ?

7. s ulaudi, 20 WSl AA-AA WS Yorul 9. AR 3 i [@enal didil waot sl
520l HIZ 5 AHAA 551 Udls WaHAL G HI2 Geowdl . ol [Assl 4R 9w, dl d
ogclol ‘U’ UL 9; ol [As5L U siel U3, dl d WAl AR UL O, d AUIHL AL
12 wallrl oalel 616 U0 d-l deia-dl AL

-\

8. w3 X+ Ruel [E{CRQL B(6.3) &. wd 53 3 X =3 34 2l ay wad uReuw 9.
(a2 P(X =3) 2 ol % P(x), x; = 0, 1, 2, 3,4, 5, 6 4l Hedd ©.)
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9. i wsll Ul uAs W2 A% wsd wdlell wadl ouglased uesll ulaumi GReaR Ml

250 53A AR AL AR SAL AU UL Fclell Haddl d-dl douadl sedl ?

10. 215 alsd 50 diedldl s diedl RBRe we 9. duigl udsdl d-dl SH @ddidl ds

1

100

2d9l d-l Adcuadl sedl ?
11, WA 7 AR S5AUHL GRIGIR 6 duld 5 HOL d-dl Aol 2UHlL.

12, 25 WA 6 AU F5AUHL a4l 4 6L avid 6 Hadl-dl Aeuarl ikl

9. d (a) 2ol 28] vis (b) s5d 5 % AR (c) oMl gl 6 dAlR SHH

13. 2 owlld © 5 [Mlad dloagaiial Gaueddl 10 % vedlysd € 8. 12 wsizHl

flogargiinl wEfs Mesil 9 vi{lysd $iu adl dAouasu sedl ?
wall 14 dar 15 4 [ e o d dd 2uta [Qsedinial do [Asay wie s e

14. 100 clogoil-l olow 4uddl wiis, 10 welysd ©. 5 ofoudl Feduial, s ua
wHlysd A gl d-l douasil

5
1 |
() 10 ®) (4
15. [Qenal dzaxl <ol d-l Acias
AGUAAL ... €9,
4
5 S
(A) °C, (%J 5
. 4
5 1 {4
(C) °¢, 5 [?}

Gews 33

1
5

-~

£9.

© (%)

0, dl 2uld uia Qenlixigl AR daur i d-dl

(B)

(D) 2umidl s uer «le.

yslel Gelgwl

RL:
5]

. 4

L
5

D oeflAAl SlesHl saledl UMISL AR wiAPIML 200 g4l adAdl ©

|
il
s ABE A Nl
I 3 4 5 6
I 2 2 2 2
i} 1 2 3 1
v 4 3 1 5

s v AR5 Ad uAe sAML UL O A Ul s el uAe sedl vl w95 Ad
9. edl vl <o Tl slealHl el €l dxdl

AclHl 2 9. 2L YAL 5L edldl 391 5L
deladl sedl ?
B : WA 5 A, B, Ey, By 24 E, 3 13 waidl cundifid desipll ©
A :osl0U 9L sl uRe YUl .
E, v 1T ude 9y €.
E, :vid IV wie a4y Sl
izl A1ERos dld ude sl e, P(E) = P(E,)) = P(E,) = P(E,) = ©

-~

L

E,
Ey

Dol T wiie wy gl
Dl 1T wRie 9y Sl
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adll, PAA|E)) = 2. P(A|E) = 2, P(A|E;) = L 211 P(A|E) = &+ 8.

3
P(udie 43d 4l Sl 20Ul O dd 2UUd €1, dl viid T wie ad d) = P(E; | A).
2il, Gl UHY glRL,
P(E;)-P(AIE;)
P(E;|A)= BE|) . P(AIE,) + P(E,) P(AIE,) + P(E;)-P(AIE;) + P(E,) P(AIE )

1, 1,4 =0.165
"%

Bels2nl 34 : [udl Rdwl B['4,%) Al Hers 9l

¢

G : w3 X 3 welos ad B 2w A Aewaqw [Baa B(41) 8. wdl, n=4,p=1
Mg = 1 -1 = 2 sl nelat 6l 3, PX =0 =40, (2T, x =00 123, 4
wed 5 X o [Ada 9.

X; P(x)) x; P(x;)
o | e f3f 0
¢ o83 7 g3 T
1| o (3 ) < 3G
fh 12 142 EoM2 2
2 [ @R | 2 el )
4 2% (113 ’4C (217133
3| 46 (3 (3) 3G EE
40 (L} 40 (1
4 Cil3 4( C4[§} j
. 4
g4, WS U= 3 x; px)
i—
—0+4C, (2] (L) + 240, (2 L) 434 (B (L) + 44, (L)
= 1 [?J [3? T2 [?] [3' T3 [3) l?] T4 [,??
:4><§—2+2><6><§—421+3><4><3%+4><1><3L4 =32+483$
_ 18 _ 4
1 3

BelsaBL 35 : 5 (ol ded u (Ml disddl Aso A d-dl Aetadl 3 9. 29l 1l
sedl AR dll [Raus @oudd s>, Fell ol 20l 215 AsNdl A -l Acua-dl 0.99
Qi Sl ?

Bid : WA 3 Raudsuy 7 avid S0l 913 9. Wwe © %

WAl €9, UASs UL, p = (Rl dgd 4R awdlaldl Aetiadl

allall Aeiarl % £9.
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Historical Note

The earliest indication on measurement of chances in game of dice appeared in C.E. 1477 in
a commentary on Dante's Divine Comedy. A treatise on gambling named liber de Ludo Alcae,
by Geronimo Carden (C.E. 1501 - C.E. 1576) was published posthumously in C.E. 1663. In

this treatise, he gives the number of favourable cases for each event, when two dice are thrown.

Galileo (C.E. 1564 - C.E. 1642) gave casual remarks concerning the correct evaluation of
chance in a game of three dice. Galileo analysed that when three dice are thrown, the sum
of the number that appear is more likely to be 10 than the sum 9, because the number of cases

favourable to 10 are more than the number of cases for the appearance of number 9.
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Apart from these early contributions, it is generally acknowledged that the true origin of the
science of probability lies in the correspondence between two great men of the seventeenth
century, Pascal (C.E. 1623 - C.E. 1662) and Pierre de Fermat (C.E. 1601 - C.E. 1665).
A French gambler, Chevalier de Metre asked Pascal to explain some seeming contradiction
between his theoretical reasoning and the observation gathered from gambling. In a series of
letters written around C.E. 1654, Pascal and Fermat laid the first foundation of science of
probability. Pascal solved the problem in algebraic manner while Fermat used the method of

combinations.

Great Dutch Scientist, Huygens (C.E. 1629 - C.E. 1695), became acquainted with the content
of the correspondence between Pascal and Fermat and published a first book on probability,
"De Ratiociniis in Ludo Aleae" containing solution of many interesting rather than difficult

problems on probability in games of chances.

The next great work on probability theory is by Jacob Bernoulli (C.E. 1654 - C.E. 1705),
in the form of a great book, "Ars Conjectendi” published posthumously in C.E. 1713 by his
nephew, Nicholes Bernoulli. To him is due the discovery of one of the most important
probability distribution known as Binomial distribution. The next remarkable work on
probability lies in C.E. 1993. 4. N. Kolmogorov (C.E. 1903 - C.E. 1987) is credited with
the axiomatic theory of probability. His book, ‘Foundations of probability’ published in
C.E. 1933, introduces probability as a set function and is considered a ‘classic!’.
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